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CHILD DEVELOPMENT AND PEDAGOGY | g1 fargyay @ RTEATIIT
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Direction : Answer the following questions (Q. Nos. 110 30) by selecting the correct/most appPr oprialt 2

9T : Fafeife Wit (9. weem 19 30) & IR & & T G ey gy foaen 9001

1. Jean Piaget believed that knowledge is
(1) a visible behavioural change that can be measure with reliability.
(2)  constructed by the child rather than being passe passively from the environment.
(3)  innate and given rather than m'quin'd through interactions,
(4)  co-constructed in interactions with more knowledgeable others,
ST st 51 e o fo g @
(1) U= g sraer yftad ¥ fom) favaaead & 9w sy wmm 2
R) TR R} fafer = A wiw w8 % 750 A G0 g e s g
(3)  a:fwrmsdi & memy A wm @ & A9 T W e wan wan g
(4)  3uE SR 3= Sl & w3 aw-fAfda g gy

-

Which of the tollowing statements about adolescence is not correct ?
(1) Children across different cultures usher in and experience adolescence in a similar manner.
(2)  Adolescence is a social construction.

(3)  Adolescence is generally considered to begin with puberty - the process that leads to sexual
maturity and the ability to reproduce.

(4)  Adolescence is developmental transition between childhood and adulthood entailing physical,
cognitive and psychosocial changes.

Trvia=n & an ¥ frefaiEs § 8 99 9 599 98 768 87
X fafy=m Fpfadl F 9= UF 390 90% | fmvimas 8 yaw Fd € 3 38 39va &9 €
v TewvimETn v wmifEE = e
(3) TemE=a =i SAHGAR  9EA B IE w0 5 fou g o € - 9% U UH WER € S A gftgaan
W qAECE w1 AHd &1 T A 6 8 |
(4) TorvmEen =99 30 99 F 9 fasmens e § e i, SR i st
qfTad= gd 2 |

3. ‘ir'\rhi{lh ﬂf ILl'IE fﬂl]nwing d'l.'fifl'ihﬂﬁ d IﬂﬂﬁtEl’}' g{}al grien[;_][iﬂn ?
(1) focus on avoiding failure or punishment for fear of humiliation.

(2) focus on achieving a certain level of performance for competing with others,
(3) focuson improving ones’ skills and understanding of a task.

(4) focus on achieving a high grade for receiving external rewards.

f H @ FA 91 T Hewd A S g gquig g 22
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Vhich of the fﬁ“u‘winp he it
4. Whic . st de
(1)  The teacher lets the chilgy,, I S the role of the teacher in progressive education ?
| “Wlearn . e " :
(2) The teacher is the Primary, UM independently and does not interfere in thejr Jearning.
(3) The teacher provides dive ¢ of knowledge and authority in the classroom.
. oy L‘rH \ . ) ‘ ‘ .
as and when required, L Materials for children to experiment and provides scaffolding

SOu

(4)  The teacher is responsip), f;]
' ' ensuring strict adherence to curriculum standards.

ﬁ“f“:““;j;m%wwmmmw“ﬁm“
2) mﬂmmnﬁmwmﬁmmmuﬁmﬁm%r

(3) ?WWWWW%M%HWWaﬂm%ﬁIWW@WWWW
v

(4) e T W] W o R qrer e w0 ¥ fer foen &)

5. According to Jean Piaget the ability to yse sy ; for symbols such as letting the letter X stand for
V to use symbols for symbols such as letting
an unknown numeral develops during and enables the children to learn

(1) formal operational stage; conservation and seriation

(2) concrete operational stage; algebra and calculus

(3) concrete operational stage; conservation and seriation

(4) formal operational stage; algebra and calculus

St foarat & s1an foel & fero famgi = woim e 7 e 51 f 31er X 1 319 3 & fag /A i
&l % A fasfaa @t € o faenfeiai & Hraa o [em T4 €

(1) sivenfrer SfFaras saEeen; S e Faag

(2~ WA Aimare san; @i 3 1o

(3) Hd wimarcae arawyn; @R I FHas

(4) shoafie Hfmarer s demor T e

6.  Which of the following is an example of a question that requires students to analyze information ?
(1)  Who is the protagonist of “To Kill a Mockingbird”?
(2) What is the plot of the novel “To Kill a Mockingbird” ?
(3) What is the theme of the novel “To Kill a Mockingbird”?
(4)  How does the author use¢ symbolism in “To Kill a Mockingbird"?

Frofrfign 3 1 a1 e G WA w1 e & For ol ) S o faver w5 ) e g
2?

(1) “{WEWHWW%%’? )

Q) 7 e T A A L

(3) --gmm“w-@ﬁ“m?. .

(4) ,,{ﬁmqwuﬁmgﬁﬁﬁﬁwﬁmmﬁ

3
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hment to tth
| ' : tional attac
;ﬁsfif ;na wnd likel i 1] and stay in school if they have emoO
HENIS are’ mofe likely to do we : |
school and believe that they matter.
Reason (R) .

Emotions Play a significant role in learning.
Choose the correct option :

(1) Both (A) and (R) are false. ‘ |
(2)  Both (A) and (R) are true and (R) is the correct explanation of (A)

. A i
(3)  Both (A) and (R) are true but (R) is not the correct explanation of (A)
(4) (A) is true but (R) is false.

(1) (A) 3 (R) 3Fi e 3

Q) (A)#(R)ﬁﬁﬁ%ﬁﬂmm’r(mwwm%r

(3) (A)W(R}ﬁaﬁ%%(maﬁ(mwﬁmﬁm%n
(4)  (A) F@ &5 (R) 7o 3

Asking Critical questions such as “how much and in what w

ays are various gender represented in
textbooks and media” would encourage :

(1) Discnuraging gender role ﬂexibilit}' (2) Questinning gender stereoty pes

(3) Strengthening gender constancy (4) Remfnrcmg gender identity

(3) Dbe indifferent towards Individyg] diffe
(4) consider differences as obvioys feature

" — L . f.h v 1
foenferi ﬁamwrﬂﬁ!mfwmaw‘;w% . . uman diversity

rences
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In a progressive classroo : _

(1) Normative @
o SRRt ;'-:(“f) T g el (3) TEF@Am R g dmer Ea
l

aviours : Holds head in an awkward position when reading; squinting
¥; redness/swelling of eyes; confusing letters. These can be symptoms

=

Dynamic (3) Objective (4) Summative

11. Alok shows the followin g 1;,91.1
and rubbing the eye frequent|
of potential : AN

(1] Communication diﬁnrdﬂr (2) Visual pr[}blems

(3) Language comprehension problems (4) Autistic spectrum disorder
mwwm%:mmmﬁmmﬁm;mﬁw—wwm
TS, SAT@l 1 ACAH/GS; e Te=m § wfing & | 98 fdes Fafad weo 8 T € 2

(3) WTHl 1 HHHA H FHEA (4) e fawr

12. Assertion (A) : i
There is no objectively definable moment when a child enters middle childhood or adolescence.
Reason (R) : |
Development is continuous in nature,
Choose the correct option. ;
(1) Both (A) and (R) are false.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4)  (A) is true but (R) is false.
AfUHAT (A) -
a8 Fé ShvaTea Ffvd &1 TE A 5 FE A= 0 A 7 Ry § wa e ¥

T (R) :

e, Wt & Ferta e el €

(1) (A)e.i‘rt(:1)'&1=i1"1ﬁ1?l*é-'r.-.i ! _

(2) (A)afn(n)éﬁfﬂﬁl%' :(A)W(R)mmmﬁl

{A)aﬁt(n)ﬂﬁﬂééfif?q(ﬁlﬁ(“)“ﬁmﬁm%n

(3
(4) (A)W%W(“’WLF |
NJ 5
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13.

14.

Assertio : i
n (A) : ‘heir oD stereotypes and bias.
ect on |

i ' 3}
chers are reflective.

Teachers should constantly refl
Reason (R) :

Culturally responsive teaching means that 12
Choose the correct option :

(1) Both (A) and (R) are false.

‘ -
(2)  Both (A) and (R) are true and (R) i the correct explanation of (A).

(3)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4)  (A) is true but (R) is false.
AfemeT (A)

el 1 Frter 373 e 3 wfgafaan oif el W a5 =nfem
<hIAUT (R) :

e w9 & T fo e & o e et 41

e fasweg 941 :

(1) (A) 3R (R) TH To@ B _

() (A) 3 (R) i = € 3i (A) F1 (R) T = e &

(3) - (A) ST (R) 2 1 & e (A) 1 (R) 1 = ] e 1
(4) (A) T € &fFA (R) Tem 2

According to Vygotsky, what is the role of the te

(1)  To give only those tasks tha the student
C

(2) To provide information 3
nd kﬂﬂ“’led
g€ to the student.

(3) To guide and Support the studeny's l
ear

(4) To allow the student to ning through scaffolding,.

|

T F STTHR, WA : o mmp]EtEI)':indupendentl}n

(1) Faa 38 Tl o) 2oy mwmﬁﬁl%ﬁwt@m%?
(2) aﬁﬁraﬂmﬂﬁnmmml TR &9 F T HH@

(3) W%Wﬂqﬁgﬁ%m

Sag O 4 AT THTTRTTIT

acher in facilitating cognitive development ?
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A middle school teacher wants to ena

between concepts and !'L'ﬂl-\-.-urld :

appropriate pedagogical strategy 7
),

ble meaningful learning by helping students make connections

15.
applications. Which of the following activities would be an

1) Let the students researc : : NPT
(1) iy arch on g current issue 1N small groups and present their findings to the

7 Let the students memorize it
(-—) morze lerms and definitions. '

(3) ~Let the students complete worksheets with multiple choice questions.
(4) Let the students learn by the method of stimulus-response conditioning,

o AT T TR O ) s o amatads a1 % ST 6 A ey T § 7R FE
et @ W T e ¥ Fpfinfira 1 @ e = fafaf T S defores e g ?

1y~ ST B O TR Al 3 g e sl an o e T B
) o @ SR i waw e ¥

) foenfifdl & Tefaeeitn e A w e gl we w w

(4) ﬁmﬁﬁfﬁmﬂw-ﬁﬁlﬁﬁmaﬂdmzﬁﬁﬁlmtﬂ@ﬁﬁﬁl

rience of interacting with

16. According o Lev-Vygotsky children benefit from the expe
while working their zone of proximal development.

(1) the physical environment; just outside

(2) more knowledgeable others; within

(3) more knowledgeable others; just oultside

(4) the phvsical environment; within

S5-aTaie] & AR 9 %maﬁ:m?ﬁaﬁﬂaﬁmﬁﬁ%aﬁhmmﬁﬁmm
5 3 7% TEgaNEE fawE % 8 E d

(1) sifas FaEL; 99 9

@) HuF THER T TH 4w

&)- = draaol; C

17. Dvslexia is a condition which impacts learner’s ability to

(1) sensory, coordinate body movements

(2) emotional, draw pictures
(3) neurological, link sounds with symbols

(4) physiological, socialize with peers

T e/ femif O feafa € S foanet =5 1 & FI wufad HE ¢ |

(1) i, g nfatatydl & Faa
(2) wrETeTs, fad @M |
NE% ﬁﬁaﬁq/:{ﬁaﬁaﬁ,tﬂﬁﬁfﬁﬂﬂfw@f%mﬂﬁh@ |
(4) mﬁﬁ,qﬁuﬁﬁmﬂmﬁﬂw |
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18.  Which of the following characterise the process of socialization ?
(b) Itis a complex process.

() Itis a multidimensional process. (d)

D @)@ @ @b (3 (®) () (4) ([®) © (9
Frfefea 4 § @i m wursheo 51 whea 51 fadmad ¥ 2

() % UF g whmm 3 (b) TE T Sifea wimal €

(€) T U agamamt ufwan & (d) ﬂﬁﬁfﬂﬂﬁ'@ﬁlﬁﬁmmﬁﬁ%l
D) @ B @ @ @) o (3) () () “4)  (b), (0) (d)

19.  Assertion (A) :

In an inclusive classroom, adaptations should be made in learning goals, pedagogical strategies as
well as assessment.

Reason (R) :

The philosophy of inclusion advocates elimination of all individual differences through pedagogical
approaches and assessment.

Choose the correct option :
(1) Both (A) and (R) are false.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.
firsraT (A) :
U WHET AT H, W@ & wedi, D& WEfaE F  g-a1e A 8 STTFe™ T s =nfeu |
HTTOT (R) :
FHEYA 1 T ReOF e SR e F mom | vt wfEd Tavs w5 w0 5 aemen
F 2
we faeq T
(1) (A) 3 (R) T @ €|
A2)  (A) 3R (R) T TE E M (A) F (R) Wet =mem wgan 31
(3) (A) W(R)iﬁ“ﬁfﬁm(ﬂ)ﬂﬁmmﬁwqﬁm%,
(4) (A) G& & SfFA (R) Ted B
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0 Which of the

follo
20. wing does not exe
mplify an inclusive classroom ?

(1) Encouraging COmpetitive ethos

(2) Incnrpfjrﬂhnn of diverse Perspectives

o) Fulln*lrﬂng reasonable accommodation

(4) Offering differentiateq Instruction

frefead § ¥ 1 T WA o 257 e ol 2
) wiaeati THER A Vet wm

2 fafay gfemivn =1 gamEy

). WP ST

uy TR P 2

71. Assertion (A) :

The less able a child is to do a task the more directions the teachers should give and
do more and more the teacher should help less and less.

as the child can

Reason (R) :

Intelligence cannot be accurately measured by calculating 1Q.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.
fWHTT (A)

9f = gfg-afer F

(1) (A)aﬂt(u)a'rflﬂﬂﬂ%'
(2) (A)w(,{)mga%m(n)mﬂmﬁmW%.

(3) (A)e,ﬁ-{(n)a-ﬁaﬁ?ﬁm(:i)“ﬂ(ﬂ)ﬂﬁmqﬁ]’mg|
) (A) T & afE (R) TS

e O (AT TR TITOE
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22.

ble pﬂying attention

ol A e ou
A teacher notices that one of her students is highly distractible and has : helping the student

‘ 1 ' v Sire i.n
during class. Which of the following strategles would is an effective strategy
stay focused ?

- : - dent.
(1)  Calling the parents and taking strict disciplinary action against the stu

(2)  Giving the student repeated tasks to do during class.
(3) Strictly telling the student to increase their attention span.

(4)  Giving a timer to student for self-regulation and time-management.

e P % st fen fo e o e & i 38 o 3 i AT € TR A
®1 Pt 3 4 @i o T o A S T e 3 o v e i e

(1) wran-foan =) qena o & faens we SEEAE wa B |

(2" O W wen & Ao an-an we ¥ faw w5 2

(3) TR F FE&l A v svauE srafy wwe F oo we

1) \-FTs iR gmm-wEaE F foo o oI 2

Assertion (A) :

Learning from real-life problems and concrete experiences gives the children multiple pathways
for learning and retrieving information.

Reason (R) :

Development is relatively orderly and sequential.

Choose the correct option :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.

TSR AT (A) -

e S T wEEns 3 gd SRvEl @ e @ e @1 o 3 ST e S ¥ for o T
faerd 21

&HIOT (R) :

fapT aTeFd SAarda 3 SR B

T faehcd T |

(1) (A) 3R (R) &l T €

(2) (A)#R(R)ﬁﬂﬁﬁﬁh(ﬂ)ﬁtﬂ)ﬂﬁmmm%

3y~ (A) 3 (R) ZFl @ E A (A) T (R) = wmen T8 www E

(@) ()@ & A (R) T 8
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24. Work in p ' £ 1 rtfolios are an effective tool for formative assessment because :
(a) They involve students in the Process of assessment.

(b) They offer iﬂSights about the PTDE,’I:ES'S of individual students.

(c) They focus mainly in the Presentation of the final product.

(d) They offer tangible evidence of student learning,.

M @6& Q@ e e @@ 4) () () (©
mm#hﬁﬁmﬂwrﬁmwumm%ﬁ# -
(@) T TS 3 ) o e

(b) émﬁﬁm%aﬁﬁmmw?l |

) 9T TN S TR g w v e F €
(d) 9T AT F 3N Fgw Tm w= F
(1) (@) (b). (d) (2)  (b), (c) 3) (a), (d) 4 (a) (b). (0

25. Which of the following is a core principle of constructivist learning theory ?
(1) Learning is primarily a passive process that involves receiving and memorizing information.
(2) Teachers should provide direct instruction and explicit guidance to students.
(3) Learning occurs when students receive correct answers and feedback from teachers.

(4) Students construct their own knnwledge through active engagement with their environment.
Frefferfaa 1 4 & W HerTaE s fagi w1 e g 2

(1) s ger w9 | v ffee wiEn & e g wm F i A T i T

(2) e % o %1 were Fidw sin wg Awte wem we =i

() o 7 e & v o 8 fae A w S sl g fie &)

(3y” B AT TR F WA AR Herw % WA F 0 T o T

26. The central argument of Carol Gilligan’s critique of Kohlberg’s theory of moral development is
around :

(1) Educational implications of the study for school going children.
(2) Ethics of care and the feminist perspective.
(3) Overestimation of children’s moral abilities.

(4) Use of experimental design in studying children.

e 3 S foer 3 fagia 1 S ffenm 1 it o i e
() e S e il e A 6 e e

Q) FEwre Ft A S AR G

L3y mﬁ%wmm%ml

(4) ﬂﬁf#mﬂ'ﬂ?ﬁ'mﬁﬁlﬁrﬂmﬂ?ﬂm

S T TITRTTNE T P
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30.

Sujat, iy interested N WINNING the
- l ;mrti":i 1""IH 5 Pan . - -
Hirst prize of Pates cagerly in the dance

Cash Sujata i
(1) F
learner

ﬂiluru.m-._,idin}‘
() F‘Mﬁ"“if-ﬂlv motivated (4) Mm-lu’}"("”"“‘}"d learner

' I . g £l ' ﬁ”fa -‘
4 L T3 e gafery sagan WM o & it g TR W WA GO AT e
| - - a

1 . because she
competition only be

(2) Intrinsically mativated

(1) S wfien fomn # (2) sriafrs = @ ufa £
"\.hhh

Of the following process s essential in meaning-making of the information received from
ment and store it further in memory ?
) Retrieval (3

CMvVirMm

Attention (3) Decay (4) Forgetting

JEveE £

In \\'hich " - ; _ : | i
law ? #age of Kohlberg's moral development do children’s reasonung revolve around ethics of

1 : ity 2
(_,} Autonomous morality (<) Pre<onventional morality
(3)  Conventional morality (4) Heteronomous morality

e A : § i :
Frewa %ﬁmaﬁqmnw.mﬁmmﬁm%ﬁﬁﬁméj

(- W‘-Thm Q [E-winfE e
(3) sl Afawm (4)  Taum 3w

An elementary school teacher can stro :

- ngly i - .
by : g1y Influence students development of academic self-concept
1) Keeping very low e ‘ .

( ) ping I expectations frum special

(2)  Keeping very low expectations from all
(3) Punishing autonomy and initiatiy,

students
students
in Students

(4) Rewarding autonomy and Initiative jp, stud
~tddents

(1) fadm oo A 77 FW I WEW@W'&HWWM%
2y~ i ferenfl 8 g3 79 Sramd vy .
(3) ol T ST #) e g '(\}
(4) Eﬁﬂﬁmmﬁmi]mm I

p-11 AU B AT o
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C didates have to do questions 31 tn’;;P?RTANT / mﬂ"f
Pilrt . 111 (Social Studies / Social §p; EITHER from Part - 11 (Mathematics and Science) OR from

ience), 1|
mnﬁhﬂ 31 9 :
mﬂ)#:\'};;: N wa}m'”(’!ﬁmaﬁm?)mm-m(mw/m

e L
. PART - 11 / 919 - 1
HEMATICS AND sciENCE / Y @ R

Direction : Answer the _fhﬂmnf”g

: Juestions by selecting the correct/most appropriate options.
frdor : FfifEd T¥ & SW 3 & fome wih e ity
31. The number of vertices (V), edpes (E) 3 g7
Then, the value of (3x-12) jg .

h_

and faces (F) of a polyhedron are respectively 10, 15 and x.

i ) 7 3) 9 (4) 14

ferelt AgweT! & WM (V), fammdl (1) 3 wer (1) 30 T w9: 10,15 30 x &1 7@ (3x—12) F AH
(1) 18 (2) 7 3 9 (4) 14

32- One Ot thﬂ‘ fﬂCtUI‘S 'Uf P"'l'*‘p:(x—y)—]_j(v-i-:)_: is:
(1) px+py-z (2 pi-py+z . (3) patpy+z  (4) pE-py-z
pdx+pAx —y) = p(y +2)—z F TGS § F TF UGS ¢ :
1) pax+py-z (2 p—py+z () px+py+z  (4) pI-py-z

33. Ifa8- digit number 94 71 x 9y 2is divisible by 72, then which of the following statements is not
true ?

(1) x=3and y=1 (2) y=8and y=5 (3) x=4 and y=9 (4) x=9 and y=>5
o 8 - s T 047129y 2, 72 W fawma &, A fre § J S T T 2

1) x=33my=1 (2 x=83My=5 () x=4 R y=9 () x=93Iy=5

R —

“sPACE FOR ROUGH WORK / 16 &Td & feit g

13 P
P-IL R EIR A

T et -
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or giviﬂg a discount of 28% on its marked price, The

34. A shopkeeper sells an article for T 323 al rticle by giving 18% discount on its same markeq
price of the article is T 300. 1f he sel[f; e 2. P“%
then what will be his profit percent ! L
o/ 39
(1) 24% 2) 10% S W
. : 28% 1 T2 U 324 AT €| T F A ey
o ) T sitEd T e - 0
1 <1 o g 3 e 184 1 T, 5 e 7
(1) 24% (2) 10% ;) 19% ks
35.  Concept was labelled as ‘Schema’ by :
(1)  Van Hieles (2) Vygotsky (3) Piaget (4) Bruner
TAW HAFHEO Y == F w9 ° Aifhd T T 9ni
(1) F9&= (2) SR (3) frm 4) IR
36. hl1 llriﬂnﬂh; F'l'..'JI;:ri 4P1= ES“ and QR=18 cm. In which of the following cases, APQR can be an
obluse scalene triangle ?
(I) ZR =135 and PR=18 cm (2) ZR =757 and PQ: 18 cm
(3)  £R=15"and PR > 18 cm (4) 4R=65"and PQ > 18 cm
39S PQR #H, £P=55° 3 QR = 18 cm 2 g A .
3 N :m?uﬁqﬁmﬁmnnmamnmaﬁzﬁzﬂmﬁmﬁ?
(1) ZR=35 3T PR=18 cm . _y
3 £R=25" 5 PQ=18 em
(3) 4£R=15" 3R PR > 18 cm (1
. i ) 4R=¢5° 3i7
e AT e ———— J PQ > 18 em
FH & forr g

P-10 (MR R REI
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37. A student was given the followi
lln
“Find the percentage of decreasug Problem on percentage Lo solve,

She wrote the following solution if the population of a city decreased from 28,000 to 26,500.”
Original population = 28,000 Néw

26!50{] b 1 0
28,000 « 00% = 94.6%

ATy . v :
Which of the following is most appropriate with respect to the response of the student ?
(1) Student has made a careless mistake.

population = 26,500

% decrease =

y. 5
(2) Student is able tf’ understand the concept of percentage but is not able to understand
percentage of which quantity is to be found.

(3) Student has solved the question correctly but has used wrong symbols in solution.
(4) Student does not know the concept of percentage.

o Taened =1 wfawam w Fsfafa oo wa 5@ |1 9 T,

" SR T IR FH SAHEA 28,000 W T 26,500 W M & @ TAHESA F HeA i qiowad qa Hiog 1’
I Frefafaa wa o,

WRIWE SHEEA = 28,000; T8 SHE@N = 26,500

— 26'5[}0 of ’
AT Y = 28,000 X 100% = 94.6%

faenet & s & ded ¥ Frafafas § 9«0 a8 s9g® 82
(1) famefi 3 sEEuEE & 32 F2

(2) Tarenddl sl &1 sraumon #) gagd § gam § W 98 7 9 9 gud T ¢ T e af
yfavraal F1d FE 2

(3) feremef 31 w9 1 TE T0F F T a1 € e sEa I Ted fel w1 IuEm fe E

(4) faendi wfaoman #1 er@uRon =1 =& ST |

38. The lengths of the parallel sides of a trapezium are 11 cm and 25 cm and the distance between
them is 12 cm. Its area is equal to the area of a rectangle whose sides are in the ratio 3 : 2. What is
the perimeter (in cm) of the rectangle ?

(1) 70 (2) 40 (3) 50 (4) 60

Forefl Teta =4 1 WEAE qETE 11 cm 25 cm § 3 376 419 F QA 12cm T FHH §ARA W
ST 3 S 3 aUat & FAEe Y9 3 2 & 9 # €1 39 S F U (em H) G2

(1) 70 (2) 40 (3) 50 (4) 60

—SPACE FOR ROUGH WORK / % & & Tell 5g

P (LRI 13 P
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39 _24. What is the value ;f ’ ;FT
= X Varies in\’Ersel}r as y. When I=3'5' then y“; 15 ( - %_ qd <hl HIH w B‘Trﬂ}
(1) 2.8 {2} 1.4 (:)% Hay=24 %l E[EI'-'-‘D.E' :.1 y 4
x'y%meﬂﬁmﬂﬁlfﬂwmﬁl 9@ x =32 & ' (4) 2
.9 n the recipr
40. TH .40 1r one of the two numbers 15 =5 the Proca]
' € Product of two rational numbers is 3
of the other number lies between : 9 1 1 d l
1 v — and = 1) 7 andy
(1) 3 and %— (2) % and =0 (3) 50 and 5 ( v
o e R T —2 1 gad Hed 1 Fohd e
<1 W Hems w5 s —% 2 ARFAITEA AT —3 g
1 1
1 .41 3 9 92 3 : 4) < 3R =
M 7 @ Sz ) 35 I3 ) 57
41. National Education Policy (NEP) 2020 recommends that Sports Integrated Pedagogy n{:.*e-:ls to be
used in classroom tpachiﬁg. Which among the following are correct in the context of using sports
integrated pedagogy in mathematics classroom ?
(@)  Teaching-learning process shall become joyful.
(b) Itis not possible to use sports for teaching mathematics.
() It will be time consuming and hence needs to be avoided.
(d) Apart frnn:n popular sports, there are many indigenous sports which can be used in teaching
mathematics.
Choose the correct option :
(1) (b), (c)and (d) (2) (a)and (c) (3) (b) and (c) (4)
- . . ¢ a) and (d)
e foen =ifa, 2020 fawfm = : ~ ) e
__ g ,_*W?_ﬁﬁﬂ_mﬁl&nwmaﬂmnwzﬁmaﬁammil
wqaﬁgmﬁxwmammnnﬂﬁmmmﬂmfmﬁmaﬁ‘é?ﬁhmmﬂﬁ 3 ?
(a) Tveror-siiem v s & s 1%
(b) T T ITAM ME 2§ w5 6
(<) mﬁ'a@ammmmﬁgﬁmwl
(d) wiag @&l & e w2 Wﬁ?ﬁﬁ?—‘u%hqmmqm -
faereq - %1 | o o
wit T a1 21
(1) ). (@3 (2 (a3 (g ®) () s, )
= - (c
—_ SPACE G
FOR ROUGH woRk B (a) 3R (q)
T oy oy
pt (BUHEEINBNNE 15
I s . -
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81473772

gram ABCD such that ZCBD=12x, ZABD =7y, ZADB=60° and
the value of 2x+3y is ;

1y 2¥ (2) 20°

g2, BDIis the diagonal of parallelo
,CDB=28° Then,

3) 21° (4) 22°

faret T FYUS ABCD 1 foraol BD 3q wepw & fF LCBD=12v, ZABD =7y, ZADB=60° 3
£CDB=28° % T 2x+3y & T & .

(1 23° (2) 20° (3) 21° (4) 22

43. Which of the following is not a dimension of assessment of mathematics learning ?

(1) Mathematical reasoning

(2) Communication
(3) Patterns and procedures

(4) Disposition towards mathematics
frefatad § ¥ SHE-91 vfom 1fimm sy 1 2 T8 82
(1) 7o G

(2) HEEO

(3) wfem (¥=) it wfwan (Fe-fafy)

@) i & gfa =

44, If x=1.011+10.11-12.101+0.1011, then what should be added to x to get the sum as 1.1 ?
(1) 1.1311 (2) 1.9789 (3) 0.3111 (4) 0.2211
e ¥=1.011 +10.11 —12.101 +0.1011 &, T x ¥ a1 Sirer e, forER drmdet 1.1 wra &2

(1) 11311 2) 1.9789 (3) 0.3111 (4) 0.2211
s ) o
SPACE FOR ROUGH WORK / 1% &l & foiq wmig

P W 17 P

T et e -
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T TR
S A

— e

estion tO her class.

45. A middt
ch type mathematics teach the followi
(a) Thelp of graph woulc cacher poses the %0 owing qu
®)  The wights of Pﬂrti':l‘ d you use to show the following data 7
The inte number of pa cipants in an athletics meet
(1) TE::}?T;,[ the IE;cﬁle?%:? boarding trains from 9:00 am O 900 pm at a station.”
(2 ¢ use SEEEES-~
( 3; ETIP learners Sitl;éslt:grams for data rcpn:senlﬂtinn.
: ISte : -. .
(4) TE':::J}?UFE the conce |1“;j oy difference between bar graph and lin¢ graph.
fres ach line graph ti a 1}“[‘ g
. & =it niforg =57 erg;?d contextual situations.
Freafafag stae W 2Tl > -
(a) mﬁ -mﬁﬂlﬁ%mmgaaﬁammmil
&) .wyﬁ”l‘- ﬁ' o Wﬁwﬂﬁmmﬁ?
[l =R W b
o YE: 9:00 9t { T >
I 3 ArE 9:00 91 dh e -~ .
e 1 9 - Wﬂ@ﬁfﬂaﬁaﬁqﬁmaﬁmw
(2) =ve- BTy 13 feru st & 3T
Heivd AT Tn:ﬂ't.. - . 2] Sh{AT |
@) - = s v 35 e 35 3t 9 O e ) A
(4) TE-ZEE FHe N 1 IR q |
CIREESD q&mmﬂ -
46. Teacher cond ‘ Zan e St
types of numl:?ud an oral assessment in cl
TS = .
accurately when _t*tdd, even, prime and cumai:; ‘ﬂnd found that Ram can speak defini
Which of the {nIIE-:tFn a set of numbers. posite accurately, but not able I;{}P'; C!Eﬁmﬁﬂn of all
(1) Ram has am.lh:-?-!% is most appropriate for th identify the numbers
(2) Ram has ru: i ical ability. ¢ above situation ?
3) R s good memory b :
am has £100 i v but lacks practi
(4) Raml ;00d memory but lacks Y
o \am as good memo B cks concentration
a7 1 @ell | Wifae ¢ ry but lacks conce '
a2 ceptual und :
Tyt TR T e # T I ST T erstanding,
el ) WA 9 3 1 7end w7 A YR 7 el el o 7 famm
N *mﬂwﬁ “qﬁ”% . 'mjmmai"r{ "
(1) W%ﬁyﬁm.“'['af'ﬁﬁﬂqmm =g fean 13 7@ F%°
(2) Tmaﬁmmt mmr bl e
. A - "
S) :Eﬁ.mﬂm:ﬁﬁ%m”m?m%'
=1 el T vifad 7=t & THTI %1 1 ¢
tpii EELIVIGIED
SPACE F 914 & Fh]
‘OR ROUG FHI €|
R g e p—
mm - — —
pr (R AERHITR
18
e
P
3

il et  —
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47. The area of the curved surface of g right circular cylinder is 4400 cm? and the circumference of its
base is 110 cm. Its volume (in m?) is ; (Use .n.=2]
O
(1) 0.0382 (2) 0.0284 .2 (3) 0.0385 (4) 0.0285
: R -8 " ] i
fel o g 4o W 9% &A%E_4400 cm? © 3 39 UR F IRy 110 cm 71 ASH &I
l._,:
T (m3H) ® ;[ = 2 & wim aﬂfaqr--':‘
7 -, |
(1) 0.0382 (2) 0.0284 ! (3) 0.0385 (4) 0.0285
N
48. The difference between two supplementary angles is 20°. If the smaller of these angles is p, then
the value of 3p - 50° is :
(1) 190° (2) 310° (3) 270° (4) 250°
< WY IV A 20° ¥ AR FTH A T A p &, W3p-50° FAAR -
(1) 190° (2) 310° ) 2700 (4) 250°
. ~1)3 2\~4 . o X oy -1
49. If X _ (_] = [__] , then what is the valueof | — + =| ?
y 3 3 o y o x
48 3 £ L_: 19 38
—_—— 1 —— | = = =l
1) "3 S T: ST @) 7
~ ’ - -3 2 -4 . X y -1 .
g X _ _1} ._[_J ga=+ L] wmumwn?
y 3 3 y A
48 3 A 19 38
1) 3 @ 35 00 B 4 7
SPACE FOR ROUGH WORK /1% &4 & feig wmrg
.y
)
(2
._“_Hi
-]
)
SO T TR . P

T et e -
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50 If 2_y-3,th
. A . =T h .y
cn_u[f. 1 2‘T1+11T, B=1l -Bx+3ng C-’-‘-l?#'lxz ﬂnd D
Oy 5 of¥andxin (A+BAC-D) 1 @
[ 3 - . -D)H y2
af @ 0 o3& @ (AFBHCTDIR SR,
A=~ 222412y, By gy 4 35 C=17-4F i D=x
& O qm . A" N1
1) 3 5 | ™ 3 1 @
(2) 0 -3 s/

51. . . rs. Which one/ones 18/ are correct ?
A student listed the following pmppﬂipﬁ of Rational Numbers
(@) A rational number includes integers.
(h) 0 (?-Ufﬂ) 1s not a rational number.
(c)

All fractions are rational numbers.
Choose the correct option :

(1) (@) and (b) (2) (a) and (¢) @) Only®) *) ?nl{ Ec)

(@) T i wen § i wfE
© ¥ O v L

:."rf‘*}
() =i fir= witha wemd o €1,
e fawe 94 . N
(1) (a) 3 (b) () () ) (3) Fa (b) (4) FE (o)

52. In triangles ABC and DEF; £B=90°, BC=8 cm, /A =40°, DE=8 cm, £F=40" and ZE=90°. Then,
which of the following statements is true ?

(1) AABC = AFED, by AAS (2) AABC = ADEF, by RHS
(3) AABC = AFED, by RHS (4) AABC = ADFE, by AAS
faqsii ABC 3f DEF #; ZB=90°, BC=8 cm, ZA=40°, DE=8 cm, ZF =40° A LE=90°%| @@, 7™
e § B AW FAEAR?
(1) AABC = AFED, AASZRI [™= (2) AABC = ADEF, RHS ZW
(3) AABC = AFED, RHS 310 5

(4) AABC = ADFE, AAS M

————_ SPACEFOR ROUGH WORK /1% &1 & e wme
00
oorr (BTN 20 >
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athematics 18 a way of thinkine «:
Math ; “““l\"‘l&: since :
(a) [Tt provides an opportunity for students to

- - . 'I-:-.

(b) Students reproduce formul

53.
ngage in proofs and examining patterns.
¢ and symbols during problem solving,

2 Students use ap i
¢ . Ppropriate « Send e : .
(©) Propriate strate $ies for solving various new problems,

Choose the correct option :

(1) Only (0) (2) () and (b) (3) (b) and (c) (4) (a) and (c)
o T H=A A6 i

() ﬂ%ﬁﬂﬁﬂfﬁiﬁm&ﬁqﬁumﬁﬁrﬁﬂmﬁm(:fﬁrq)mﬁiﬁmmmmh
(b) T TN 3 SR ferenedt 3 v fe i e )

(€) ﬁmfﬁfﬂf%?ﬁmﬁﬂﬂw'mmiﬁfmmqfﬁﬁmwﬁnmﬁ:

@ faFey =1 w39 wifan .

(1) ¥ (b) @ @3 @) I @) (@)

54. Three numbers are in the ratio 2 : 3 : 4 and the sum of their cubes is 33957. What is the sum of the
three numbers ?

(1) 81 (2) 54 (3) 63 4) 72
T A 2:3 : 4 F UM A € I 396 W @1 9w 33957 1 39 A densdi w1 9m g ?
(1) 81 (2) 54 (3) 63 4) 72

55. Three consecutive integers are such that when they are taken in increasing order and multiplied
by 3, 5 and 2, respectively, they add up to 99. What is the sum of the original first and third

integers ?

(1) 24 2) 16 (3) 18 (4) 20
ﬁ”m?ﬁﬁﬁm?ﬁwd%‘ﬂ%ﬁ@mﬁmw%aﬁm:3,saenzﬁrwaﬂﬁ:ﬁrgf
WA €, 1 ATHE 99 WIE orl € | SR qeel A1 S quihl 6 4 e ?

(1) 24 (2) 16 (3 18 4) 20
SPACE FOR ROUGH WORK /7% & & o0 W78

PU - P
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. ‘g carton .
56- The . sforent fruits kr_lpl mn
r—j:d-.l..fj_“““.l“ﬁ l“bll‘ Hhu“'s lhl.' nunﬂﬂ {jf thf'l. L
T}'Pt‘ of Pomi-
I[ruih; Mnﬂ[:wﬁ Apples Oranges |Guavas gmn-‘“t"i
Number 44 | -
56 42 30 | |
el 1 1 the angle of the sector representjy,
It a Pie chart i constructed for the above data, what will be the ang 4
o . o (4) 96°
ﬁq(]) ] (2) 79.2° IR ——
SR N el fw 4 22 1 fafsr el w1 HES H :
el %
I M A WAy | appEm | AN
Ij [ ag 56 | a2 | 230 | 38
1 r vy = a = - = - "Iu- - )
R ST S a0 s w7 o 8, W IW G ww e A A e g
(]) 100.8': (2) ?9-2'5 (3) 721: (4) 96
57.

A box opened at the top is made of wood of thickness 3 cm. Its external length, breadth and height

are respectively 1.48 m, 1.16 m and 83 cm (base =length X breadth). What will be the cost of
Painting its inner surface at T 150 per m? ?

(1) T 84250 (2) ¥ 838.20 (3) T 839.10 (4) T 841.40
wawwwmacmﬁﬁmmmﬁl THH AR TAE, SR a9 9

1.4§m,1.15mafua3cm%(muu=ﬁaﬁxﬁlsr§)| THH HiqlF Taal T T 150 W m2 W R
A 1 @I =8 ?
(1) ¥ 84250 (2) X 838.20 (3) R 839.10 (4) T 841.40

58. If the median of the data 30, 8, 7,3,17,15,21,24 29 77 ic + ‘ ‘
by replacing 3 by 33 and § by 18 in the abers dat’ahgs 'S ¥ and the median of the data obtained

y and x ? Y, then what is the difference between
(1) 4 (2.) 1 (‘3) p) (4) 2
afe AAF 30, 8,7, 3,17, 15, 21, 24 29 23 T Hop o : )
’ - # g ‘ I %‘ 3ﬁ-{ s-:[ mﬁ ﬁ 3 3 - -
gfaefod 31 W W siEs . o _ . %l 33 | aur 8 w1 18§
(1) 4 2) 1 (3) 2
- —_ = — ' 4
SPACE FOR ROUGH wons W 3

p-11 (R .

T et e -
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Posed the following problem to her students :

respectively. What is the I::;r::ns Started together. Their steps measure 70 cm, 85 cm and 95 cm

. m 1 y o
distance in complete steps 7" um distance each should walk so that all can cover the same

Which of the fnllnwing concepts would be
(1) Concept of proportion

(2) Concept of HCF

(3) Concept of LCM

(4) Concept of division

mwaﬁnﬂ?ﬂﬁﬁﬁﬁfm%mﬁmﬁﬁ%maﬁﬁhﬁaﬂmr@n

I R WA TS e g ey w0 €1 ww @ dad w70 4,
85 W.HI. 3R 95 {4, ¥ sﬁﬁmwmﬁ@aﬁﬁﬁaﬁqﬂtﬁ-@mﬁfﬁmmﬁ?”
frfafad 5 FE- saurod fau m wwm 5w w0 F A srEvEE g

(1) FHIYM &1 SEyRoy

(2) WETH FHYEA® (WH.) T argumon

(3) TTHUH FEYENE (TH.) FT AGURON

(4) TaweE =1 srEumon

required to solve the given problem ?

60. Which among the following Learning-Teaching Resources (LTRs) are most appropriate for visually
challenged students in mathematics classroom ?

(a) Geogebra (b) Taylor’s abacus () Computer (d) Spreadsheet
Choose the correct option :

(1) (b),()and(d) (2) (@and@®)  (3) (Jand(d)  (4) (b)and (c)
Tfra it e § gfanfua faefdi F fou Frefatam sfom foem gaEi (@ 9 3m) § 9 3569 T ge)
I9GH §?

(a) forisET (b) e fram (c) FIA (d) W
a fawey =4 ¢

(1) (b)) () (a) 3 () () (c) FW (d) (4)  (b) 3 (c)
~ SPACE FOR ROUGH WORK / Th &M@ & faw W

Rl (TR T - P

%—
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Direction : Answer the following questions by selecting the correct/mos }’:: ‘/’j
- 8 1 ad e agaa faFcd 317

! FEfafaa gvy & gav 7 & AT

il

'hi S Y r bacteria ? _ e
T ot o e ) e (9 Yellow v mossc
M) Ony© @ @ @ Oom® @ OF
ﬁqﬁf@aﬁ'ﬁaﬁqﬂwm(mﬁvm)aﬁmmm?? 3 -
(@) TH T (i ) (b)  foed I @ fE 3 (c
(1) % (o) (2) (a) 3 (b) (3) ad (b) 4) (b) (c)

62. I*::lﬂ-nti!'}r the correct statement(s) :

(2) : A fact is an observation that has repeatedly been _
(b): Alawisa theory that has repeatedly been found to be true over the time. —
(1) Neither (2) nor (b) (2) Only (a) (3) (a) and (b) (4) Y

W& F/ A e F

(a) : ADA U aeirwa & {59 Tuaf aian T8 9 T e

(b) : T\ uw fogia & 98 goami arar 98 o T4 2

(1) @3MOIFEHFE  (2) F99 (a) (3) (a) # (b) (4) Fad (b)

found to be true over the time.

63. Find the set that correctly matches the plants in column A with the mode of asexual reproduction
which they exhibit :

Column A Column B
(a) Rose (i)  Budding
(b) Yeast (i) Spore formation
(c) Ferns (iii) Fragmentation
(d) Spirogyra (iv) Pollination

(v) Vegetative propagation
(1)  (a)-(iv), (b)-(iii), (c)-(i). (d)-(ii)  (2) (a)~(v), (b)-(i), (c)-(ii), (d)-(iii)
(3) (a)-(iv), (b)-(i), ()-(v). (d)-(ii1) (4) (a)-(v), (b)-(iii), (c)-(ii), (d)-(i)
3 W= H GG SF FEH A H R H I g w2l s v a fafy 3 me w8 v @
HHE € -
W A & B
@ T il
(b) A= (@HR) (ii) E‘W’lm
(©) w5 (quiT) (iif) GeA
(d) Eee ERIUIERL (iv) T9aY
(v) IaE yasfy
@ (@), @G OO D) @)-(v), @), ().

(3) (ﬂ)-(iV)r (b)'(i)r (C)'(V)r (d)'(IU) (4) (ﬂ]-(\.’), ('h)-(l“) (ii), (d)-(iii)

- (©)-(ii), (d)-(i)
pxr (I e 24 i

T et e -
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4. Which of the following woylqg .y : ,
6 at upper primary lev egl ) be a most Suifable strategy to introduce the topic ‘deficiency diseases’

(1) Hold a discussion on common h

(2) Provide a definition of balanced 5

A f ' .
(3) arr;z;lgeitnr a doctor's Prescription-pertaining to a deficiency disease and hold a discussion

IF ==

(4) List the various nutrients and thejﬁﬁclinns they perform in human body.

AR TR R ST 3 et ), e e ) et 0 95 it ey <o o g 2
(1) W 97 Havf i R yiegst s

(2) W AR R SR W e qo ST Y SR F TG FE

(3) AVESE I | Hafkw =i (fafregs) 3 weyH 3 S99 9 39 T 9l S

(4) e IR A fafie due sin i frnati 1 3 froes @ ¥ 8 geag S

iet'and introduce the concept of deficiency.

"2
5

65. Which of the following is the most suitz;.b_l::' strategy for introducing the students to the concept of
‘chemical reactions’ at upper primary level ?

(1) Hold a discussion on chemical reactions which students are likely to have observed in their

lives LY
(2) Explain the concept of valence electrons and electronic configuration

(3) Write the chemical equations in sfrﬁﬂulic form and ask students to observe
(4) Define a chemical reaction and giﬁr examples

3= Wafys T W TaatEE Afufea’ s sEuron § et @ ufifas s § fou frefafas § 9

® 9 #1fa I9gea T 8?2
(1) 3 TarEfE afufFnei w o= e fom et 3 359 siem § dufad &9 9 seee
wWe

(2) HETSTER eagiA ST SeTaRiE fa-ATd F STEURON F SAET HT
(3) TEmEfTE FeitE @ wdrhers w9 F e qun el @ sEesT S @ o we
(4) TrarEfE sfvfE @ aRuifid ST e SeTE S

66. A ball is thrown up in the air. It reachés’'a maximum height and then returns to the thrower.

Which of the following quantities have the same values during the upward and downward motion
of the ball ? ~4

(1)  Work done by gravity (2) Accelqr;ﬁmn (3) Force of gravity (4) Displacement
T e 3 g O S S T | T AR $emd T YT F TuYE e AT e Ao o

T |
iz 1 sefeqat sl s /= & T Frefafen § | w5 @ e e e g
(1) TTagnfEFmmmsE (2) < (3) A G (4) T
VO VTR TR AT 25 P
_—-— e

] et e -
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f gravitation being
; wtons theory O
67. Which of the fnllmving is the most suitable reason behind Ne

regarded as an excellent theory ? ,
(1) It has been developed over a long period of ime _ assum
(2) Tt explains larger number of gbservations by rnakn"lg o
(3) It has been arrived at after ﬂTQ!'EmBh experimeniation tHes
(4) 1t has been formulated’ using .ti:é-;preciSE language of mﬁ mﬁemﬂ[ : "E F9 gl Hﬁﬁﬁm R
LT e frgin =1 s fegin W 8 90 T

? LA

pﬁnns

(1) ¥ i st 4 farwfem o 7

2) T FY Wmmq@n;@mﬁmm%
) ¥8 7yl ol 35 v v

(4) Eﬁqﬁﬂzﬂﬁmwmuﬁmaﬂ%wmw%

68. Read the I'nllm-.'ing text -

When a negatively charged rod is brought near an uncharged electroscope,

(@) the electroscope leaves move further apart
(b)  both the electroscope leaves acquire similar charge

. |
()  the negative charges pass on to

‘111& electrnscu;:e causing its leaves to move further apart
Of the above three statements -

(1) (a), (b) and () are inferences IJ |

(2) (a) is an observation while (b)_g”nd (c) are inferences
(3) (a) and (b) are observations and (c
(4)  (a), (b) and (c) are observations

Frafeafaa e =1 oz .
mmmﬁmﬁﬁmmj(ﬁg)mﬁmﬁmﬁwﬁ
(a)  Tereraesii ofvEl ww gt & siv g s

(b) mﬁ@mqﬁﬁwmaﬁam

) i an inference

IO A FUA F
(1) (), O) M@ FERE ()

(2) (a) FaEIFA € SETE (b) 3iR (c)a'ffﬁ €
(3) [ﬂ)aflT(blaTﬂ?'ﬂEFﬁ%GﬁT(c)aﬁil}I%
4) (a), (b) 3 OEERIEERS

8 0 I IR TI TRHIR YR 26

] et ——
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69.

70.

71.

72,

P-I1

f mass 500 pm is v : .
A [box ¢ the forc & B lying on a horizontal table. Which of the following statements is true
regarding the force(s) acting on it ? [y=10 m/s)

(1) An unbalanced force of 5 N acts on it in the upward direction
(2) No force acts on it

\A 0 - . .
(3‘) An u.nl alanced force of 5 N acts on it in downward direction
(4) A pair of balanced forces acts on it

At (STH) WS (290) W 42 qu v fomy (afan) &1 ZoAAA () 500 TH ¥ IW T ET AX
ﬂﬁfﬂﬁmuﬁﬁmﬁmﬁﬂaﬁqmmnnﬁ?? [ﬂr-ll‘!nl/:-:]

(1) SufoTE fom | 50 WS N w amigfen ge we w @

(2) I8 W HIE 76 F T8 wwm B

(3) Wﬁnﬁmmsmm aniqfﬂﬂwﬂrrﬂi e

(4) HAER Tl FE g (pren) 39w ae w

Which of the following is NOT indicative of the h'_'..'pt'!lhl'ﬁi!'iiﬂﬂ skill ?

(1) Identifying variables for an experiment

(2) Formulating questions which lead to inquiry o
(3) Attempting to explain observations or relationships in terms of some principle
(4) Using the senses to gather information

frefafas § | 31 9 UfiEcq ) F3 % v & 2 7@ ¢ 7

(1) s vam & fou =@ 1 veam F

(2) TEE d& o 9H a9 W T4

(3) o fagial % faua § stecai v Jaul 1 S FT F T 50

(4) T UHF F & foe st F 3w w7

Seed dispersal may be said to help the plants in all of the following except :

(1) produce new varieties
(2) over crowding |
(3) avoid competition for sunlight, water and minerals

(4) invade new habitats ) o o . | )
W-mm%ﬁﬁmﬁﬁaﬁﬁEﬁﬁqumquq@m%(mm%)ﬁqam;
(1) = fred S F &

(2) h-u{h ne ® - . =

(3) qﬁ%iwm,aﬁr{d@ﬁm%muﬁmmmm

(4) U FEE H A 96 7 E

X is a device which is used to see around corners and is based on the principle of __Y

X and Y respectively are : _
(1) periscgpe, dispersion (2) Tf:lt:‘scn[1e, reﬂect}nn
(3) Kaleidoscope, ref raction (:1) Periscope, ruﬂectmp |

X mm%ﬁwuﬁmmﬁfﬁ?sﬂﬁﬁmﬁ%mﬁmm%mﬂa Y & fogia w snufw €1

X SRY FEA: T R
(2) TEUF (TEihta), TUEdA
(1) ufieef, Wi ot

(3) gEed, AT 4
LRI IR A

27 |y

] et e -
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names in column B.

73.  Match the substances in column A with their chemical
(A) (B)
(@)  Slaked lime (i) Calcium oxide
(b)  Table salt (ii) Sodium bicarbonate
() Limestone (iii) Calcium carbonate
(d)  Caustic soda (iv) Calcium hydnnitlv
(@)  Quick lime (v)  Sodium hydroxide

(N Baking soda  (vi) Sodium chloride

(1) (@)=(iv), B)=(v), ()-(iii), (d)=(ii), (e)-(0). (D-(v1)
(2)  ()-(iv), O)-(vi), (©)-(iii). (d)-(v), (e)-(0). ()-(iD)
(3)  (@)-(vi), (O)-ii), (©)-(v). (D)-(0), (0)-(iii). (O-(iv)
(4) (@)@, ®)-(vi), (©)-(iii), (d)-(v), (e)-(ii). (N-(iv)

mﬁﬂﬁqmwﬁmaﬁmuﬂﬁqmm%mmfwmﬁiiﬁmu e A,
(A) (B)

() FEFm () Ffemm sites

(b) T FHE (i) difean awEEAe

(c) 19 (iii) FHieagn FEME

(d) FEsaE (iv) Hioadd TRGIFIES
(e) Tawgz (v) Hifean TEgEERs
() afET = (@) (vi)  Hifedn FERES

(1) (a)-(iv), (b)-(v), (c)-(iii), (d)-(ii), (e)-(3), ()-(vi)
(2)  (a)-(iv), (b)-(vi), (¢)-(iii), (d)-(v), (e)-(3), (£)-(ii)
(3)  (a)-(vi), (b)-(ii), (c)-(v), (d)-(i), (e)-(ii), (£)-(av)
4)  (a)-(i), (b)-(vi), (c)-(iii), (d)-(v), (e)-(ii), ()-(iv)

74. The difference between maximum and minimum resistance that can be obtained by conneching

L] 1 .
three resistances of 3 1 each is :
-1 Q E 8
W3 @3 ! ©) 9 ﬂ 4) 10

- - ‘ 1 .
e e e e S i S A e 3 0 35 1 e 2 <irgd g w9 o
%,'ﬂg%':

1 2
(1) 39 2 30 (3) —g-n ® 16
p-11 (N EIAAA 28 p

—__‘___——‘

R T

Downloaded From KarnatakaHelp.in O scanned with OKEN S
= dCanned wi canner



(a) Nitrogen (6)  Oxygen (c) Ozone
(d) Sulphur dioxide (€)  Nitric oxide

(1) (d)and (e) (2)  (a) and (b) (3) (b) and (c) (4) (c) and (d)
(a) T (b) FHEr (c) F=mH

(d) T ERAFEZ (o) frw wEEe

(1) ()3 (e 2 @3E @ OF @ (@I

76. Read the following statements carefully and select the correct option.
Assertion (A) : The stars in the night sky appear to move from east to west.
Reason (R) : The earth rotates from west to east.

(1) (A) and (R) are both incorrect,

(2) (A) and (R) are both correct and (R) is the correct explanation for (A).

(3) (A) and (R) are both correct but (R) is not the correct explanation for (A).
(4) (A) is correct but (R) is incorrect.

frafafaa g = virmgds ufzu aa w@ faeeg 1 9973 T

afusraa (A) :  Uf s § ar g4 3 wfvay i 30 fa w6 wdra e €

ah (R): e ufeem @ e feen & v wE

(1) (A) 3 (R) @A r@d ¥

(2)  (A) 30 (R) DT e T a4 (R), (A) F1 Bl = v

(3)  (A) 3 (R) @1 |E € 9T (R), (A) F1 Fe1 27 721 2
(1) (A)@E ¢ R (R) T T

77, Identify the set of micronutrients (nutrients required by plants in small quantities) :

(1) Zinc, Iron, Manganese (2) Potassium, Magnesium, Copper
(3) Copper, Phosphorous, Calcium (4) Sulphur, Aluminium, Chlorine
frcfafiga W ) wey (diY) & OIYFl & FY=EG (F9 WA § Wwdl 30 Anida k) &) g
m .
(1) foiw (s), 9, FEE (2) Wziwgm, s, g
(3) dfan, wERRA, Hcaad (4) T, THAEEER, T
29 p

PIL RO fnann e

et T -
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78.

79,

80.

rectly fill the blany

which would cor

Read the fnlluwing Pﬂrﬂﬂfﬂph L‘Eln.‘fll”}-' nnd Sﬂlﬂ‘ft the nptiﬂﬂ

In the given order. . .nts have spec

Sound is produced by vibration and different m?ﬁlcfl]-msuu ﬁ; it is the stret

a _ X__ the sound is produced by stretched string> ina___ s the air column.

vibrates and in a Z  the vihrafinp part that produces sound ¥

X,Y and Z ca R ,
’ N respectively be ; : lak

(1)  ektara, violin, piano (2) sitar, harmonium, dho

(3) dholak, ektara, mouth organ (4) guitar, tabla, ShEhI}ai TFR T T HY 1§
FeEffEs srese @i Wﬁmwhﬁgqammwwwﬁ“ Siife Hel AR i
T 1 37 | N )

: - : 5 7 waf7 @ifa 9/ 2Ry
aﬁwmwgﬁ%ﬁWﬁﬂ_ﬁﬂﬂﬂ$ﬁﬁmwm§$%Wm -y
S 8, Y i foreeht & o el gaen_ZH AN '

ific vibrating parts. |,
ched membrane thy;

(Fie™) B

X,Y AR Z wa9: 2 9w © .

(1) z=am, aEfam, foam (2) foram, wrifAE, ST
(3) e, THAw, FE-mi (4) frem, deer, I

A teacher, while teaching the chapter ‘Body Movements’ to class VI students shows the fnl]nwmg

images to her students : |
A sailing boat, swimming fish and a flying aeroplane. She then asks the students to reflect on the

shape of the images and the manner of movement. Which of the following are likely to be employed

by students in answering ?
(a) Classifying (b) Observing (c) Inductive reasoning (d) Measuring

(1) (a) and (d) (2) (a)and (b) (3) (b) and (c) (4)  (c) and (d)

v fofera 2rqa wen vI & fanfdn =1 ‘v 9 nfa’ ure ek wwy frefafaa gfafaa feam
¥

STCTATA ETal T, Tl Faell 1 U 351 7T Sers | 9 aquvaa faenfd w6 wiafai = srsfa @ v
& YR @I Wiafat=a &1 F fau Fed 21 3w 33 & oo famnfed=i gr fam § 9 frme donfag =9 @
faafsa fevan smam ?

(a) @RIl (b) HHAAHA (c) AMTHATHS Thviletal  (d) HI9A

(1) (a) 3R (d) (2) (a) 3 (b) (3)  (b) ¥ () (4) (o) 3R (q)

Identify the correct statements from the following :
(a) Generally non-metals do not react with water.
(b) Generally non-metals do not react with acids.

(1) Neither (a) nor (b) (2) Only (a) (3) Onlv (b
Erferfiad & @ W@ FE F e Fif - my (b) (4) Both (a) and (b)
(a) @G 31uTg el < WY sfifmEn 95 T
(b) ETHIE: MG I F WG il T

(1 = al (a) T @ (b) (2) *Faa (a) 3) FHae (b) @ (@ . ®) e

o eam R LR 30 p

Downloaded From KarnatakaHelp.in (E Scanned with OKEN Scanner



81

82.

X and Y are thick, black |
petroleum and Y is deri
be ?

(1) Coal Tar, Bitumen
(3) Coal Tar, Charcoal

:quidS which can be used for metalling the roads. X is derived from
ed from coal. Which of the following can X and Y respectively

(2) Bitumen, Coal Tar

" : (4) Charcoal, Bitumen
xﬁ;ﬁmﬁﬁmmm“ﬂwmﬁ%m_mmm% X J2ifergn | 5caA € a9l
Y e € € 'IE'laﬂﬁﬁﬂﬁ?mm:xaﬁf'¥§(m%?
(1) HIear, fagas i T

FIAdR, AFIS (2) A A
(3) * (TS (4) Wﬂﬁ__{_\?i%—qﬁﬂﬁ), fagm
Consider the test item given below and match the fnf‘lﬂ:t;]ing :
Column - A Column - B —
Unit of force Joule o~
S_v_.'mbol of iron HCl N
Formula of hydrochloric acid Ag |
Unit of work it
S}mbﬂl of silver Calorie
Symbol of battery Fe
Newton
Which of the following is not a reason that can be given to justify that the item is poorly
constructed ? 26
(1) There is inconsistency among entries j_ \

(2) For an entry in column A there are at the most ..t-;fn plausible entries in column B
(3) There are unequal entries in column A and B “*

(4) The matching pairs can be easily guessed N
1 1 78 wdteror w W fareR Fif ao Frefatan e Hi
HieH - A i - B lf
e &1 e HCl .

A ST F YA Ag
w0 # g (aEw) il

aral w1 fa=g Ferl
9 &1 fa= Fe
b G ) -
qggﬁammﬁ%mﬁmﬁﬁﬁ-ﬂﬁwﬁﬂi?ﬁﬂﬁﬂﬁﬁaﬂﬁnzﬁhmmqﬁﬁmm
Tl 8 2 o I
(1) whafedi § (3 o= ¥) fawid =y -
Q) e A foeh Sfafe % fQ FIEH B ST 2] R St €
(3) wfem A 3R BH A yfafel € ‘{ J
(4) firera gu gl A e | STTAA T A €|
1N
| 31 P
S TR
- B B .
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83,

54,

Read the fﬂﬂ‘-’“'iﬂ?, statements and selact the comedt option.
Assertion (A) -

' . » WIS
Dried raising when beft in plain water for some time SW ell due to osmass
1™ 3

Reason (R) :

"
I -

Plant cells have 2 selectively permeable cell mepthrane.

(1) (A) 18 incorrect but (R) 1s comrect. .--

ey

(2)  (A) and (R) zre both correct and (R) is theroorrect explanation for (A)-

(%) (A) and (R) are both correct but (R) i< not th-n; correct explanation for (A).

- e

(4)  (A) 15 correct but (R) 1s incorrect.

TR (A) -

UL 1A 1Fr.vrfﬂw=3hmmm%mnﬁﬂﬁ:iﬁgﬁmwﬁmwﬂ?mmwm e
wak; (R) : 1 -_
Wiy wafvranst o armears w7 1w S fame £
(1) (A) 7o B utq (R) 51t ¥ |

(2)  (A) SN (R) @ 5w § 3w (R), (A) ¥ 6 w ¢

(3)  (A) st (R) @A \wE F 9 (R), (A) € @ mnan 2 b

(4)  (A) B0 § W (R) T F

A body has a Linear momentum of p and 2 mass of m. The kinetic eneryy of the body

| S
() pm 2 pm (3™~2p°m (3) E
2m
o fye WG W p AW ISR (WA o ¥y P sai am 20
s g = - 2
(. pe adl W rrm (4) PzTn'

par BEIEEEERIE 32 :

_—L__—_‘

Bt
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85.

86.

87.

which of the fﬂ“nwing statem
* e

. nt(s) i
(1)  Fertilisers incrogge (8) is correct ?

lh{} Nnu I]
- ] m 3 - r -l y ke
(2) Fertilisers are r of friendly microbes in soil

richer ip ifi
nl SPecific nutrients as RERPT Yo, e
hance the Wate

(4) Fertilisers proy

(3) Fertilisers ¢
id r holding capacity of the soil
Ide a lot of humus to the soil

A 8 /% o w1

() T o St 2 v 4 g @ o &
(2) waﬁaﬁmmﬁmﬁ%ﬁqﬁﬁwmﬁﬁ
(3) mq_.ﬂﬁmmﬁ%?ﬂﬁg

() TR T T TN H e

Read the following statements carefully and select the correct option.

S1: Rayon is a synthetic fibre.

52: Rayon is made without using any natural raw material.
(1) Both SI and S2 are false (2) Both S1 and S2 are true

(3) Sl s true and S2 is false (4) Sl is false and S2 is true

frefataa Sl =1 samyds ufzu qon wdt fasey &1 999 S5
61 : @ U Hivee g €1
2 . @M F a1 fat wrfos =1 w1e & wam & 991 S €

(1) S1aS2TH Ted & (2) S1aS2EH T ©
(3) S1HeEl € N S27ed @ (4) S17EM T RS2 TA

Which of the following is not desirable with respect to carrying out of a classroom demonstration

by a teacher ?
(1)  Follow up the demonstration with discussion

(2) Rehearse the demonstration before carrying it out in class
(3) Emphasise be

(4) Supplement the demonstration with explanations

ﬁwﬁmﬁaaﬁqmmwmmﬁuﬁhaﬁwﬁﬂmﬁ%ﬁﬁﬁuﬁmqﬁ%?

(1) et & o weed & ST

Q) e i e FO1 A T T A A
G) T @ T I (T WA
4) e @ smene @ T w0 (TR

33

TR

forchand the linkages that students are required to make

&1 fomant famtor & faenfddi & foro smavas ©
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. % r ")
_ . s scepticism’
88.  Which of the following best explains the statement ‘science promotes Scep

(1)  Scientists are open-minded and willing to modify their ideas

. e aemivical evidence
(2)  Scientists judge the validity of a claim based on objective empirica

(3) Science is purely inductive in nature

(4)  Scientists do not trust the findings of other scientists

(1) 9 i fram vy € & e 7 Pl ) A O 8 9 0 €
(2) Fawfie sy e 3 s AT @A @ A A
(3) Toam wFfa # vz =q F swmes €

(4) AFFTF gHT (3rm1) At wra-urom W A T A T

89. Which of the following statements regarding rusting of iron are true ?
(a) It involves a chemical reaction between iron and oxygen.
(b) It is an exothermic reaction.
(c) It can take place at room temperature.
(d) It is reversible reaction.
(1) (@) ®G)and () (2) @.GLE (3 Gand© ¢ (a)and (d)
frrfafaa § 9 95 3 Fum @ 9 S am & 999 5 w98 82
(a) AT e (Fw) 30 A F 9 At stafwmn 51 mfaa s 2
(b) & UE Funardl sfvfEa ¢
(c) AT WHA A (F1S-T19) YT 7 Al £

(d) T Isrvita sifulEa T
(1) @.®3M(© @ @ 0.  (3) (b () (4) (@) 30 (q)

90. Which of the following is a set of animals in which all show external fertilization ?

(1) Frogs, fish, starfish (2)  Hens, lizards, butterflics
(3) Lizards, butterflies, frogs ()  Butterflies, frogs, fish
frefafaa 3 | 37 9 F TR F9 9 D Wi am firs 2 2o 5
(1) Haw, wod, w2 (2) w0, fevwen, faaen

(3) fevee, faael, dew (}) o=, He=, woen

prr (MUTI IR ”

T et -
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onwards ?

TV TR TN

| —

Cﬂmﬁdﬂm have to do questiong 31 t
_ 111 (Social Studies / Social Sci

"I ~ 11 ( nfor 3 far) ar ST - 111 ( QrTfras 3reqa/ Qe

3. 'Periyapuranam’,a'ramil ' |
(1) Soldiers and military generals  (2) Kings and queens

(3) Scholars and poets

e —

IMPORTANT / wevagof

N ‘@ W97 31 W90 77 7 ek
-

I
0 90 EITHER from Part - Il (Mathematics and Science) OR from

——

PART - 111 / 91T - 111

al bodies :

(1) Social privileges are a result of one’s birth.
(2) Only human beings pass through countless cycles of births.
(3) All human beings are equal at the time of birth.
(4) One could break the cycle of rebirth through personal effort.

T vt 3 yny | frefatad § 3 e fFEn w @i 3 g9 e E & e ?
(1) wmfer farafuesr et =1 = 1 wiom 2

() ae wFa wifd SiEd & S T E T

) B+t = 5= 3 TEA A O €

(4) mmﬁmﬁwﬁwwmmﬁl

work informs us about whom ?

(4) Ordinary men and women

35

ey, e e i A ST & 2
1) ot s oo FARA () TS S i
6) fri sie e F A () TR T st s A A

sOCIAL STUDIES / sociaL sciencE - wrifore s / o fsm
Dfmcﬁﬂll . Aﬂﬁl‘fr the ﬂl”{}“!fug q"ESH{?HS

ﬁéﬂ;ﬁﬁn%@ﬁﬂ?ﬁ%méﬁﬁ

31, Our solar family consists of following celesti

(1) Planets, Ss}tellites, Asteroids, Saptarishi
2) Constellations, Planets, Sun
(3) Satellites, Planets, Pole star

(4) Sun, Planets, Satellites, Asteroids, Meteroites
7 ¥R 9RER FEfafan e figi g gy

(1) W&, SUUE, §aUe, oy

() FeEHEd, U%, 4
(3) IUIE, TE, A
() T, Te, SUTE, 4EUT, IeHuS

by selecting the correct/most appropriate oplions.

7T w8, wary Sugem fawe giaT

32. Which of the following ideas was questioned by people from the seventh century
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. f the followlr
34. T]'I{!' bﬂﬂk 'Stripurushtulnﬂ’ was writtl.!n b}. (Zli;h ﬂ;z:di[a Rﬂ n‘tabm
(1) Ewv. Ramaswamy Naicker (Periyar) (4) Tarabal Shin:i -

.( 3) Vecraﬁallgm Pm*:;;l;l_.m PO ﬁﬂT(* o # i off 7
(1) 2.3 wrand www (i) @ aeraré foie

(3) it v ()

ly being built 1n mou

_tainous areas. Select the most suitap),

35, Railway network is now extensive
reason. .
to enable 1L
(1) There are advanced technological dwcln;fments 0
(2)  Itis easy to construct railways in mountains.
(3)  Mountains are highly eroded.
(4) Mountain people are making railways.
~ . N <hl
YRSt &5 § 37 Yo @1 farga Fwion € W@ T WWW
) v T ¥ fer 3 g o fr g T
(2) verSi § Temmil = fmin sreE g e
(3) werEHE-afaa €
(4) WwERiamEmr S aEel

=7 Hieg |

36. Read the assertion (A) and reason (R) carefully :

Assertion (A) : ) _
Dadabhai Naoroji, one of the great leader of Indian National Congress, never become the President
of INC.

Reason (R) :

He was a businessman and publicist settled in London and for sometime a member of the British

Parliament.
Choose the correct option of the following, :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explain (A)
(4) (A) is true but (R) is false

3R (A) T SITOT (R) F1 4F 4 92 .

ITHHRTT (A) : ) o
areraTé RIS, S o WA TSR FE F 92 9, w6 i wd o i o s T
&HIT (R) :

raardl 3 TE9RE 91 9 €8T H Td 9 31 7 gy Pt i .
:iﬁfﬁﬁﬁﬁﬁaﬁﬁmgﬁ; > * fe HHS & U= i W)
(1) (A)W%ﬁ;ﬁ(ﬂjml
(2) aﬁa‘f(A)@(R)Hﬁﬁwm},mme%,

(3) aﬁ(A)Eﬁ(!i)Wﬁm(R}.(mﬁmqﬁml
(4) (A)'Gﬁ%ﬁ’_'ﬁ(mﬂm|
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38.

39.

40.

ol [T

thich of lollowing two pau

wh N Bases make up the bulk of the Atmosphere ?
Ozone and Heliy

(1) . (2)  Nitrogen and Hydrogen

(%) Carbondioxide and Oxypen (4) Nitrogen and Oxygen

T | { 3 ' ‘ f (‘ .H!
mﬂmﬂﬂm*ﬂwmmmmﬁmﬁt? -
(1) i 3ft Wifem i

() TG s e (@) g e st

The true representative model of our Earth i - 0

L
(1) Glove (2)  Map (3) Satellite image (4) Rugby ball
ol Yl 1 Arafa® freer ufaey § .
(1) T (2) wrfas (3) FwmEAYEfaa (@) TE T

The Child Marriage Restraint Act was passed in 1929, Acmrdmp to this Act, what was the respective
minimum age approved for marriage, for men and w*umen ?

(1) 17 years and 15 years (2) 20 yuﬂr_{; ‘.mjd 18 years

(3) 18 years and 16 ycars 4) 21 yunr;m:ul 18 years

1929 § A faamw fFay sfufm ofa fEn @ ﬂfo‘PFl?F HTER 50 a1 "feen & fou et w6t
A A7 FHa: fdadl v w8 7 oy

(1) 17 a4 a4115 = (2) 2094 auﬁ}mﬁ

(3) 1894 a41 16 a4 My 21 ad q41 18 a4

The earliest evidence of growing crops like wheat and barley are located in which one of the

following places 7 Choose the correct option, N\

(1)  Nilgiri hills (2) Garo hilih -,

(3) Malabar hills (4) SUIHimﬂl:EL:_a;ﬁd Kirthar hills

S i v T e e e P 3 o v 4 7 2 i e o
() s fiem @ mifew

OF” W feea (4) WM i famer feem

37 P
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41. Winds blow dry leaves down the pavement. How do winds blow !
(1) Movement of plants and animals.
(2)  Movement of air from high pressure area to low pressure area.
(3)  Movement of air from low pressure area 9 high pressure areas:
U3
(4)  Movement of condensed air. :J.a_
T T ity wferdi o werdt ¥ 1 war 9 AT €7
(1) N 3ir She-igaii = | oo,
)
(" 359 2@ &} Forer 7 2 i arg @ AL
By 7 7@ &3 A 33 7 i it i A
(4) wufm 9 H g ) N
42. Read the Assertion (A) and Reason (R) carefully :
Assertion (A) :
In 195{0. the bilingual state of Bombay was divided into separate states for Marathi and Gujarati
speaking people.
Reason (R) : -
In 1966, the state of Puniab was also divided *l t i iabi
Haryana for Haryanavi Dlr S spenkei:;,l e .!E.ﬂj wo States Punjab for Punjabi speakers and
Choose the correct option of the following : * )
(1)  (A) is false but (R) is true = K
(2)  Both (A) and (R) are true and (R) explains. (A)
(3) Both (A) and (R) are true but (R) does nﬂt-eleﬂin (A)
(4) (A) is true but (R) is false Y
AR (A) T80 HIOT (R) F1 279 3 13 . |
AfUHAT (A) :
1960 H fgumdt =g wid =1 T 2R e I S S ey
+H ‘t%l'q ET EHE!T[_W L LI,
T (R) : 15 St
1966ﬁ'mmtﬂfﬁmﬂ€l?ﬁfﬁ§m| WW ..a;ﬁ_[{ ‘
areli 3 fa) - T 3 Fo1w, <i wfeamon, et an foet e
frfafad |5 4 wé fasey 97 . b
fas
(- (A) Terd € TR (R) wéT )
: : . o
(2) @i (A) @ (R) WEl E a1 (R T ST - At
() L . ( )J(A)Hﬂ _@al
(3) = (A) T (R) W& & g (R), (A) 37 ST
Rl ST |
4) (A) W@ & fAg (R) T M
p-11 |[HRT NI 38

] et -
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o diseases that spread fro
Th M one person to another through water, food, air elc. are called as :

(1) Cﬂngenitﬂl djsﬂﬂﬁES ! |
(3) Communicable diseases (2)  Genetic diseases
h (4) Acquired diseases

amﬁﬁ'? - ﬁ_‘@ AR - e, virom, arg Feaite @ Tewd € 38 :
™ T S ?ﬁgl (2) ﬂﬂﬂﬁﬁﬂhﬁaﬁ%%’il
o T (4) Imfa deITEl ed ©

il

Read the statements (A) and (B) carefully :

(A) : In1770, a tEr‘:‘ble famine killed ten million people in Bengal.

(B): About one-third of the population was wiped out.

Choose the correct option of the following :

(1) (A) is false but (B) is true (2) Both (A) and (B) are true

(3) Both (A) and (B) are false (4)  (A) is true but (B) is false

FAl (A)TH(B) I AR AR ;-

(A) : 1770 8 ST H T WA ST 3 el T g aril 1 51 S|

frefatad § 4 Wel faswed T4
(1) (A) 7 & fHg (B) W (2) < (A)q (B) FEI €
) <M1 (A) 99T (B) e @ | (4) (A)gﬁ%farﬂ(g)qm|

s5. Which of the following statements help in sustainable development with reference to present day
resource availability ?
(a) Reducing consumption of resources
(b) Increasing resource use
(c) Recycling resources
(d) Reusing things
Choose the correct options :

(1) (a), (b), (d) (2) (@) (c) (d) (3) (a) (b) (c) (4) (b), (c), (d)
ﬁmﬁfaaﬁﬁﬁmwwaﬁnﬁm%mmwm%ﬁaﬁiﬁmamaﬁmﬁﬂmﬁm

(a) Wi ®I @Ia 6l HAl
(b) wanEl & 39 | 978

£2] (ﬂ)! (c), (d) (3) (a) (b)r (c) (4) (b), (c), (d)

il (TR - P

] el e -
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46,

ab.

| ) - nti
Choose the statements that eaplain the Ganga-Brahmaputra Basin in Indian subcc

a O

th} K t“ul[‘n'j“‘ h'“.'!tﬂ ﬂ““"l’ i“ ll“-‘ l"t'ﬂ“‘“'

t ; t1‘l" l]-a'iin Ii"‘-h in I‘.ll"“‘.‘}‘icﬂl n":‘t‘t‘-

l‘ ]11" Area i< "i"“‘l‘i'm[t‘lj l,}- .\!'“‘“‘“] ;'li'l‘l'l-'l'll‘.

% asi
( } rhl" l‘h‘hll‘ Jlta l\ﬂ‘ a \'.‘Itii‘\l l“i“‘t:lnlihl.r

Choose the correct option |

@) (), () @@ M M.
v ety O vim warpy Ry 27 sgrmm wO WA T ] W0 Wit
(2) T W A vipah aq a1
() W Sl i O fivin
(V) TR s g) TR A qragd B
(d) R Qs W s gen 1) srafa #)
wFT W wwy wifan |
W@ @ VI (@), ), (0 (3)  (b), (). (d) (4)

Tomd Zone on Earth receives maximum heat as

(1) ravs of the sun are slanting here

(«) 1tis land locked

(*) 1tas bounded by ocecans

(4)  the mid-dav sun is exactly overhead

T W T wfoadiy &% W sfuw e v wa § oty
(1y = 1d o1 fao fard) ot €

(2) T TuEEg

(3) e R fEa e

(- T EE i fm st

Read the statements (A) and (B) carefully :

(A) : The Veda Samaj was established in Madras in 1864,

(B) : It was inspired by the Arya Samaj.

Choose the correct option :

(3) Both (A) and (B) are false (1) (A) is true but (B) is false
F941 (A) 391 (B) 1 R | 9¢ .

(A) : ‘A7 AR T 1864 § w2 W gd )

(B) : 3% WA, S FAE A Ui 41

Erefafoa 9 7 W@ fawe =979 .

(1) (A) T & = (B) we d2) i (A) 7w (B) T §
(3) 25l (A) A (B) TR ¥ (4)  (A) W & faveg (B) TTema

port BREE BRI "

(ﬂ). (h‘] v (d)

(a), (b), (d)

wnl.

T et e

Downloaded From KarnatakaHelp.in

(% scanned with OKEN Scanner



§9 Read the statements (A) and (B) Carefully :

. 817, James Mji .
(A) * In :} N leTU‘; Mill published ‘A History of British India’ in three volumes.
(B) : In this e div ided Indian history into three periods - Ancient, Medieval and Modem.
Choose the correct option of the following :

(1] (A) is false but (H) 1S true (2) Both (A] and (B] are lrue

(3) B‘Dth (A] and (B) are false (4) (A) is true but (B) is false
o, (A) T (B) 1 41 3 43

(A) 8 T 71817 v et it fafrmy e’ i il A v o
(B) : TH SR I Sfer® 1 i e - wrei, WeA 3R amyfirer H Al ¢

(1) (A) e © TR (8) @y 2 (A) @ (B) FE €
(3) Al (A) 991 (B) e € (4) (A) TE & fohg (B) TTeidl |

50. Read the assertion (A) and reason (R) carefully :
Assertion (A) :
Tribes have rich and unique cultural traditions including their own language and music etc.
Reason (R) : |

Land, forests, grasslands and water are regarded as the wealth of the entire tribe and everybody
shares and uses these together.

Choose the correct option of the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explains (A)
(4) (A) is true but (R) is false

SRATHAT (A) 791 ST (R) 1 A & TG :

e (A)
mﬁm_wmwmammﬁm%@mﬂmmﬁﬁl

FIT (R) :
mq,w’qma;ﬁamﬂmmﬂfgﬁ&ﬁmhqﬁaﬁ%lﬁqmsqthnmﬁ@maﬁmﬁmm
gl

Fretfafas & @ | famed 1 :

(1) (A)TeE ¥ g (R) T8
(2 ﬁﬁf(A)qa'(Rmﬁ’f%*am(R),(A)ﬁa@xm—g,
@) (a)w@ & g (R) T

TR - P

S ———

T et S -
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51.

52.

53.

Ladakh is also called Little Tibet due to : o
{ﬂ) Geﬂgrﬂphical proximity (b) Rgligiﬂl.lﬁ similant

(€)  Similar cuisines (d) Linguistic similarity

Choose the correct options :

(1) (@), (), () and (d) 2) (a), (b) and ()

(3) 1), (¢) and (q) (4) (@) (b) and (d)
¥ w0 werE = g faea o Fd €

(a) vimfes anfe (b) yfdes FAE

(c) 9 s (d) wraT FEE

|E faweq =1 5 EAELL

b (@), (b), (c) ¥ (d) 2) (@, () ()

(3)  (b). (c) ¥ (d) 4)  (a), (b) T (d)

Which one of the following is not true regarding Hindustan Socialist Republican

Choose the correct option :

(1) Members of the HSRA assassinated Saunders, a police officer.

(2) Bhagat Singh and his comrades founded this organisation.

(3) It was founded in 1928 at Firozeshah Kotla in Delhi.

(4) It was founded in 1928 at Amritsar in Punjab.

Association (HSRA),

fergram Wufere frafeam wifauem (Tawm.sme) F a0 8§ Fefatea 1 7 HA-T FUA WA TR

i URLUR. N, & Heedl 1 #ied amE yi@s qww s w1 e § 9l )

(2) wa fHe 3 3 wifawd afed 3 7aE) A 51 41
(3) 1928 ¥ feeell & fwuswme veen § saF =9 72
(4) 1928 ¥ YOTE & YA H THE] T |

What makes an object or substance a resource ?

(1) Discovery of object (2)  Purification
(3)  Utility or usability (4) Extraction
1 Wi fael avq STl R FHEY 996 § 2

(1) & U (2) WeFm
(3)- Sqgifiral SvE ¥l (4) Ty

prr (U BRI 42
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,ad the Assertion (A
i::rtiun (A) : ) and Reaspn (R) carefully -

-as during Shal 'S ra
It was b ' Jahan's reign that the different elements of Mughal architecture were fused

Ous synthesis.

L e — ——— el 0 il T

&€ amount of construction activity especially in Agra and Delhi.
Choose the correct option of the fullnwiggsim?ﬂn activily €sp . gr

(1) (A) is false but (R) is true P
(2) Both (A) and (R) are trye and (R) explams (A)

3) Both (A) and (R) are trye s
' 14} (A) is true but (R)isfaluss "R d“ﬁiﬂ* explain (A)

HWHTT (A) T HFRUT(R) F o g .~
afumdT (A) : -

o7 YA ¥ SEd i e e v, e =g 9 s a9 feeet §
' frerfarad ¥ 3 Fer fameg =9 .
(1) (A) TEE 2 R (R) 761
(2) @ (A) U3 (R) H&1 € 991 (R), (A) F1 =301 1 €|
(3}~ 2 (A) UE (R) ®El T fF9 (R), (A) 1 =5req T&1 w4l ¢ |
(4)  (A) FEl ® T (R) 7o I
55. Read the assertion (A) and reason (R) carel'l_uﬁy :
Assertion (A) : |
The Mahalwari settlement for revenue collection was introduced by Holt Mackenzie.
Reason (R) : o | |
The charge of collecting the revenue and paying it to the company was given to the village headman,
rather than the Zamindar. _
Choose the correct option of the following !
(1) (A) is false but (R) is true
(2) Both (A) and (R) are true and (R) explains (A)
(3) Both (A) and (R) are true but (R) does not explain (A)
| (4)  (A) is true but (R) 1s false .
AT (A) T HT (R) F1 AT § 92
v (A): o )
' ma@nm*qﬁaﬁaﬁm'ﬁﬂwﬁmmﬁﬁw
T (R) : A oL L
T e au I A T8 GG F I F A 3T A SR
Freafifia § & Wt fased 1 - ™~
(1) (A) 7 € Fog (R) e A

Q) 3 (A) UE (R) WE E A9 (R), (A) F S FT@ G
3y’ aﬁ(ﬁ)qﬁ(u)nﬁﬁ.i‘cﬁi(RL(MﬂTmml
(4) () F@ ¥ f (R) T N

U TR TR 13 P
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56. The Prairies are known as ‘Granaries of the World'. Select the conditions that help in production
of surplus wheat in this region.

(a) People do not use technology here.

"o
(b) People are very hardworking here. I
(€)  Scientific methods of cultivation are used here

(d) There is a lack of rainfall in this region.
Choose the correct option :

(1) (c) and (d) are correct 2) (a) and (b) are correct
(3) (b) and (c) are correct 4) (), and (d) are correct

’Ham‘q'ﬂ Tava =1y o w23 3 mmnmﬁﬁmmﬁmmmw
|

(a) =@ = Wit w1 sedm 58 T )
(b) == & =gy wfiwd B #
(c) ?ﬁwﬁﬁmﬁﬁmmmm%mmh

(d) =8 w2 5 auf = 54t &
D @M=t O @y

(@) (b) 3R (o) T (4)  (a) 3 () T E

57. Lines drawn on a globe are known as

latitudes and longitudes. What
serve ?

purpose do these lines
(1)  They are furrows on earth and indicate physical features of the earth
(2) To make designs on globe
(3) To locate places on earth

(4) To l"'lhl'l.llif}' the t‘;lr_\m L NJ

A3) 9 W F§E F forg
(4) | @ 1M & o A/

p-11 (R0 AICHRITITE .
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The atmosphere is 3 th;

thin |
B. aver of a: : : .
‘ the earth ? Yer of air Surrounding the Earth. What keeps the air to remain around

(1) Gravitational forcq of mo
on

(3) Heat of the syp (2) Gravitational force of the Earth
(4 Rocks and oceans on the earth
et & R S et 2y - )
T F arqree wed 81 @91 IS AT Y F A S A 7
(1) I H TR e
£2)” g # Wtfﬂ'l aq
(3) T4 H F

(4) YeER W HEH SN HEEIT

s9. Reasons and Assertions .
Assertion (A) :
tereotypes preve . :
5 YPES prevent people from doing certain things that they are good at.
Reason (R) :

Stereotypes stop us from reco
one pattern.

gnizing unique qualities and skills in individuals and fit them into
Choose the correct option :

(1) (A) is false but (R) is true

(2) ~ Both (A) and (R) are true and (R) is the correct explanation of (A)

(3) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(4) (A) 1s true but (R) is false

T 3T AfuwyT -

FUHAT (A) :

Ffgag YU Sl 1 U8 19 090 4 Tadl & ot 9 o708 &

@ (R) :

Hieag YRoTd T S § S T SR FIYE B 2@ QAR § 9O T UE 9 YER & @i o o 3
el

wel faseq &1 =77 FIe |

(1) (A) 7o & 95 (R) e B

U2Y” (A) 3 (R) i @l € a9 (R), (A) F1 Fel e €
(3) () 3t (R) 2 FE & A0 (R), (A) P HE HEA T !
(4) (A)Ea‘r%ma(u)wa%u

S T - P

P — ——

] et -
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60. India and Bangladesh are leading producers of jute. Choose the correct statements pport
growth of jute. ;
(@) It grows well in alluvial soil.
(b) It requires high temperature.
() Tt requires low temperature and low rainfall.
(d) 1t requires heavy rainfall and humidity-
Choose the correct n[;h'uns :

(1) (@), (c), (d) are correct (2) (a) (b) (c)are correct
(3)  (a), (b), (d) are correct (4) () ©) (fdglﬂ ar;éﬂg—‘;a P

NI SR AR YeaA (o) F sl I ¢ T
it |

(a) TE e e § ar @n | faefaa € |

(b) 8 3= AHA w1 aTavAEa el ¢ |

() T Foret arm s oy Al ) anarvEeRd e €|
(d) 3] 9l vl SR s i syEvadd e ¢

& faweq =1 == #ifs)
(1) (@) (o), (d) 7 & @ (@), ®) (©FE
(3) (a), (b), (d) |A & (1) (), () () FEE
61. Which is the best method to teach the concept of ‘Insolation” ?
(1) Survey (2) Case study (3) Brain-storming (4) Demonstration
'S I SEMTO Yer 1 TEd STl i B %2
(1) Hdem (2) F8 = @y~ faam-tuA (4) WeEH

62. Consider the following Assertion (A) and Reason (R) and choose the correct option :
Assertion (A) :
The disciplines that make up the social science are history, geography, political science and
CCONOMICS.
Reason (R) :
There is interrelationship between the disciplines.
(1)  (A) is false but (R) is true
(2) Both (A) and (R) are true and (R) explains (A)
(3) Both (A) and (R) are true but (R) does not explains (A)
(4) (A) is true but (R) is false
ey 2SI (A) 991 SRUT (R) T fa=m #3 91 W@ fasweq 1 527 Fife
T (A) :
fren FagTa it mrtor faam &1 @461 € 9 € sfaem, e, TsHifaen faam dan sdeme |
1ol (R) :
== feren fardi 9 A Ha B |
(1) (A) 7o 2 9% (R) 921 21
() (A) 3 (R) 21 Tl & 991 (R), (A) T A=A F@
(3)  (A) 3T (R) 21 HEE 740 (R), (A) T =20 T =
(4) (A)FE % 9% (R) 7o 1

prr AT 46 p

T et -
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63-
(ﬂ)
(b} To ensure cqu
{i] To encourage Politica] debate N
(d) [tisacustomary pracyjc,

Choose the correct optigyy -
(a), (b), (¢) and (d
(1) (d) (2) (a), (b) and (c)

o) (b), (c) and (d) (4) (), (b) and (d)
. y n | an
drda § O FIE0 W0 st & YT

(©) TSR SRR Ao < e ) v 250 3 foe
(d) € T RUT Wi @

He SO 1 9 HIf9U .

L @), ®), () 3R (d) ) (a), (b) 3 (c)
3) (b). (c) 3 (d) (4) (), (b) 3 (d)

L]

64, Which of the following is true about sources ?
(a) They are more concrete in nature
(b) They are all historical in nature
(c) They are objective
(d) They include accounts of eye witness and personal letters

Choose the correct option :

1) (@) (and(d) (2 @and(d) () @and®) (4
=1 9 & F o =il & aR H wE €2

() o wifues S| wHfa & &d €

(b) &\t et gHfa F T €

(€ Iagf=sed i

d) =i g & i sl AR T o i ¥

W faeq @1 wga FIoC

ol T 4

O N . -

T et -

Downloaded From KarnatakaHelp.in
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65. Assertion and Reason :

Assertion (A) : olved engagement with the

s learning to a more inv
Open-book exams shift the focus away from rote learning to

textbook,

Reason (R) : eed to prepare for the exam

]
@) onts as they don't n
pen-book exams reduce the burden of students ¢ y

beforehand.

Choose the correct option :

(1)  Only (R) is true

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3) Both (A) and (R) are truc and (R) is not the correct explanation of (A)

(4)  Only (A) is true

vFYT 3R FR .

AT (A) :

ol s gde Tt 9EA ‘ﬁmﬁﬁnm;'iﬁmuﬁﬁuwﬁamﬁmm‘ = Tl & |

(1) =aa (R) F&l 2
27 <M (A) 9 (R) TEl E q41 (R) el SIS HT € (A) Fl
(3) 21 (A) @ (R) F€ € 941 (R), (A) F1 F&l <A@ el &l |

(4) FFA (A) T T

66. Fill in the blank with correct option.

An alert and vigilant public is necessary for developing a strong

(1) Autocracy (2) Monarchy

(3) Democracy (4) Oligarchy

fra T 1 G fawed | Wl

T G2 &1 T & & ferg adh Sin qem s ey ¥
(1) THaA (2) A

3y WA (4) T

p-11 (RARA IR 48 P
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i oasider the following agseeor

P
ol L [TTETHIR T
. -

- gﬂveﬂm‘ent' Nt questions (A) and (B) related to the working of the state
. What is the Purpose of o
(A)* debate ? O a press conference ? How is it different from a Legislative Assembly

==

(B) : what is the term yge

d to refe N | |
party and who play refer to elected representatives who are not members of the ruling

role of questioning oo e 9
stioning govt. decisions ¢
Choose the correct option - 9 %ﬁ

(1 Both (A) and (B) test factual knowled
(2) (A) tests conceptual knowledge

() (A) tests factual knmvludgu whereas (B) lt?ﬁi;"i conceptual knowledge.
(4) Both (A) and (B) test conceptual knowledge.

A T ig”'ﬁ“ﬂ“ﬁfﬂﬂﬁ’qﬁﬁ@amﬁ(mm (B) T fa=m 1|
(A): T 1 IR B 2 e Favrraen 23 arel @ea A o @E S E?

@): 3 Fraifea Sfafferdi % for farm yrez a1 i 2 & <0t e 2t 36 2w T € ad1 PR &
W HEd 33 € ?

g fawed 1 =994 Fifew

gy~ 1 (A) TN (B) ToATHE T F1 e 1L

() (A) HHCTAHE TH F1 S F & SAfF (B) AeAH T B |
G) (A) A 1 S T & T2 (B) RS T
(4) ﬁ(h)ﬁﬂﬂ(ﬁ)wwaﬁﬁﬁﬁﬁ%i

(
ge .
whereas (B) tests factual knowledge.

i
| e
=
4

While evaluating social science the following questions will help to understand its
objectives : :—}

(a) What skills are emphasised in the syllabus ?

(b) Is it derived from a standard text or combination of texts ?

() How detailed is the outline of syllabus ?
(d) What level of competence is demanded of learner on each social science skill ?

Choose the correct option :

1) @), b andd ( @and@® G @and@ @ () ®b)and ()

mﬁammqmm$mﬁﬁﬁfaf@ﬁmmﬁwmﬁnwm
(a) Wﬁmﬁmﬁmwﬁmﬂm%? . “

(b) www@mmﬁmwmﬁmm

() T i i e e e
(d) Wmﬂmmﬁmmi@mﬁﬁmﬂm%?

Wil foreg a1 =g i O

H (a), (b) () (2 (ﬂ)a:m(b) (3) (a) 3 (d) (4) (a), (b) 31 (c)

49 P
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69. For teaching which of the following topics, a tree chart would be best

' t
(1)  Distribution of demographic variables such as age, gender, race elc i

(2)  To give summary of reign of a ruler

{1 : ra, such as wars, revolutions of
(3)  To illustrate the hierarchy of historical eventsina particular era,

social movements

——

>,

-

(4)  To teach modern history )
ﬁwﬁr@aﬁﬁmﬁm%mm%mﬁ-aégﬁmm?
(1) mﬁammﬁaﬁmﬁwﬁﬁ%ﬁa}wm
(2) VH F uETEE AR 33 F fau

,ﬁ)fﬁﬁﬁmmﬁtﬁﬁmmﬁ,ﬁﬁgﬁmmﬂmﬁmaﬁmﬁ#wﬁnﬁm
feam F fou

(4) Y= siae™m gem & fau &8

70.  Which of the following is not a characteristic of continuous comprehensive evaluation ?

2.
‘___-I'-Eur

(1) It focuses on marks based evaluation of student’s work.

(2) It makes evaluation an integral part of the leachmg-learrunh process.

l._?

(3) It focuses on all-round development of the child’s personality.

(4) Itincludes an assessment of scholastic as well as co-scholastic aspects of the students growth.
feafafaa § 8 SH-91 9ad 3R SA9F Yedisa ) fasrad Ta § ?
S ﬂﬁﬁmﬁ&?maﬂmﬁammhﬁm%ﬁm' % |

(2) ng;qmmﬁlm-afwuﬁwmaﬁmmm‘él |

-

“"L i

(3) Wﬁmﬁ%ﬂmﬁ#mﬁmﬂmﬁl

et
(4) qgﬁmaﬁﬁ;ﬁamﬁm‘amum~ﬁqumﬂmtﬁawm%|

3 N

p-11 (0 EHAIN AR 50 p
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rwo Fundamental Rigjys Whic

71 with Lﬁﬂnit}' and as equals h the m

are - arginalized groups can invoke, to insist that they be treated

[“) Riﬂhl lo E‘-Iuillil}'

() Cultural and Educatjopy, Rights

(c) Right against Exploj,

ation
(d) Right to Liberty

Choose the correct answoers -

a) and (d
(1) (@) and (d) (2) (@) and (b) (3) (b) and (c) (4) (c) and (d)
3 wifers AR o=t win o
saer fe e, 9 § .

) FEFE 3 Aeforr st
(©) v & favg sy

(d) TEaFal F1 AfuFR

CRAFa W @ 2 7 €, a6 @e off nfeTa S T w5

0 @A @ @I|b) @) GO @) (I

2. Which of the following resources/strategies can make a social science classroom
inclusive ?

(1)  Encouraging only answers from textbooks.
(2) Display of stories and photos of people from various communities and regions.
(3) Teaching only dominant views of society.

(4)  Avoiding examples from immediate environment.

Frerfofan o & si-a1 S/t TF G foam i we S aaeeh o= g $ 2

(1) Foe qreaqee § S0 31 & ford W F

(2 Tafvr= e s &l & wril i el SR TR & Te=

() Faet war F Wy faerd ®1 o

) 3ragrg & SerEl & 99

51 P

Py
o (1] BT

] et -
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; L D ' ywing options.
3. Identify a skill-based objective of teaching social sciences from the folle §, OP

(M) To acquire knowledge of continents

(2)  To understand the cultures of people living in different societies
3) To develop an ability to draw a map

(4) To du‘l'l‘h'lp 0 rugpﬁ*l for difference and t|i\’l'r!iil}'

B 9 &, wnfoes fagm g i W st IRV W) YT

(1) TerRE @ s wra we

(2)  Tafvm= wars) o @ ) vl @) s w0 s
3 TN A W ey fawfaa wen

(4) A 3R fafawm ¥ feu spa fawfaa w60

74.  The statement, ‘The Indian Constitution provides safeguards to religious and linguistic minorities
as part of Fundamental Rights’ infers that :

(a) it protects minorities against possible cultural domination by the majority.
(b) it protects minorities from any discrimination by the majority.

(c) it safeguards minority interests.

(d) it guarantees economic opportunities to minorities.

Choose the correct option :

(1) (a), (b), (c) and (d) (2) (). (b) and (c)

(3) (), (c) and (d) (4) (), (b) and (d)

FyA,  rdrg Haur aifds A vl sieaHErEl §1 e F1 WENE S saEnl 8 e 2 9
HAFAE Al € &

(a) T ATHAEAF G AW WIFHfaH W & TRE HCTHETH T TO&T F3d1 2|
(b) I FEHEAF g fHHl T & YT9E | TS F1 A w0 ¥y

(c) Fe seqHeEAd & fedl &1 Jran & ¢

(d) g ACTHEAF B AMGH a8 1 ML) Y2H T ¥

wér faseq &1 =997 Ffee |

1) @) O © T (2~ @), (b) ¥R (c)

(3) (b), () #F(d) (4)  (a), (b) 31 (q)

p-11 (WL IHCALE A 59 ;

T et e -
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ian judiciar
| The Indian Ju Y Upholds
| 75, Jffective control over the actions ;l;lit':h of law

) Democratic valyeg nshrined ;
in

, without any fear or external influence, and maintains
€ government because of :

. Indi o
() Supremacy of judiciary j b ian Constitution

(3) Independence of iUdiciary in Indie
4) Judicial activism

raqiferent fam
ﬁﬁﬁmmmm::?;?ﬁm%wmwaﬁmm%ww#mm

qard GiauE o .
(1) ' Hﬁmm@wqa
(2) quﬂﬁqﬁﬁm
@/mﬁwﬁmﬁw
(4) =fgs Tiwgar

76. Identify the immediate measures w

S hich ensure women’s safety and enable them to take up jobs,
support family income and in beco

ming self-reliant.
(a) Provision of child-care centres

(b) Reservation of seats for women in parliament

(c) Provision of occupational safety
(d) Pick and drop facility for night shifts

Choose the correct option :

(1) (@), (b), (c) and (d) (2) (a), (b) and (c)

3) (@), (c) and (d) (4) (a), (b) and (d)
mmmﬁwﬁmﬁrmﬁﬁmmwﬁmm, it 3y | arer w3
& st gam 4 gfafeed & e

(a) aTerafedi &1 WEaHH

(b) §ue H wfeensdi & forg Frel &1 STRET

() =g QUam 1 JEaH™

d) T el (ferge) F fag @m-a S F gEd

W faweq &1 w7 I
By (), (), (o) 3 (@) @ @ @M
®) (@), () 3 (d) (4) (@) (b) 3 (d)

K T B d

T et -
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77. Reasons and Assertions :

Assertion (A) : f

. orted Ir
Man}- cases of farmer’s suicides have been 1€P
REﬂEﬂn (R) .

Failure of Monsoons and inability to repay .
Choose the correct option :
(1) (A) is false but (R) is true the correct explanation of (A)

(2)  Both (A) and (R) are true and (R) 15 lanation of (A)
() Both (A) and (R) are true but (R) is "
(4)  (A) is true but (R) is false

T 3 aifirerye -

W{A): "
WIS 3 e 4 fare 35 a5 e 3 W fE fRCTCE

T (R) : .
TR 1 A9 S st (1) T WA A fere A g
e faseq =1 997 wifau

(1)  (A) 7Tera & 9e (R) 961 €| ‘

2} (A) 3 (R) SFHi 9el € 941 (R), (A) Ft FE1 A€ € | |

(3) (A) =R (R) < T& € T (R), (A) 1 GEl A el € |
(4) (A) F@l € 97 (R) 7o €|

om villages in India.

ers.
ns leads to distress among farm
a

t the correct exp

0T ST © |

78. Assertion (A) :
Teaching of social studies is important at the elementary stage.
Reason (R) :
It sensitises the child to social issues and develops in him/her a respect for difference and diversity.
Choose the correct option from the following :
(1) (A) is false but (R) is true
(2) Both (A) and (R) are true and (R) explains (A)
(3) Both (A) and (R) are true but (R) does not explain (A)
(4)  (A) is true but (R) is false

AR (A) :

TR TR TR A fawm # fam weey

@& (R) :

7E = 1 FHISTEF A & 9fa Haemmire g 2 = - -
5 © 9N I Forren v fafay 3 fero g famho 70
frefafad 5 8 V& fawey 91 =7 iy .

(1) (A)W%W(R)Hﬁﬁl
o (A,m(mmw?wm),(mﬁw@mm%

(3) (A)W(R)ﬁ“ﬁ%‘“ﬂ(ﬂ).m)ﬁm S
(4)  (A) W & TG (R) Terd F T

pxr AN . :
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? g 1 Mmost , . )
f Efﬂabﬂs' PPropriate for reducing curricular load of Social Science

o) Focusing on COnceptya) clar; memﬂﬁi’-ing facts and focus on comprehension.

(C) Sklppmg certain tﬂp s fro l} (:.TH
familiarity with tha ¢ theme M the textbook based on exam directives and teacher’s lacks of

Choose the correct optigp, . -h B
r d - ".'!
O @) (@), () and
g f;m )%_ (4)..] Only (b) and (0
g 19T ISR Wﬁmm#mﬁmﬁﬂwmmﬁ?
@ m’*m“‘“ﬁ’”ﬁhmmﬁmmm
o) Wﬁ%wmqﬁa;mm
Q gmm%wme%ﬁmamﬁmtmwﬁﬁmﬁm
& faed 1 =99 Fifsm)
1) F () 3 () @2 @), (b) 3 (0
@y (a) 3 (b) (4)"?‘%6(13)31“@

0. Many workshops and factories located i in. mdustnal areas employ casual workers because :

(a) They can hire and fire them ar:c:ﬂrd.mg, to their convenience.

() They save on salaries and other job. benefits which are paid to the permanent workers.
() Casual workers work long hours mmnut demanding overtime wages.

(d) Casual workers are more hard w nrl-qng as compared to permanent ones.
Choose the correct option :

(1) (). (), (c) and (d) (2) (a), (b) and (c)

(3) (b). (c) and (d) (4)  (a), (b) and (d)

e & F feorg o8 Froam ao weefal § srurd g 91w e 2 =i
(a) 3% 3o Qraugar W@ AR fFae 550 €

(b) ﬁmaﬁﬁﬁﬁaﬁaﬁéﬁwmﬁﬁﬁﬁ?ﬁﬂmﬂﬁamﬁmmm%l
() sl e o TR s F Y o T s e e

(d) mmﬁmaﬁwquﬁﬁﬂfﬁqﬁﬂﬁtﬁﬁﬁl

W faweg &1 == Fifa il
B (@), (), () 3R (d) (2)d (a), (b) 3 (c)
() (b), (0 3T () (4) (@), (b) 31 (d)
P' .
o 1T > P
h. e e d

T et -
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81. It is possible that there might be students l:bF-'l'Eﬂ'llgmimﬁmh which of the following things should

when you are talking about the ngﬁgq:a[_:jn.argin

you keep in mind before introducing ti}é.,t'?[»“‘: - ]

(d)  Taking names of particular commiunities might cause discomfort to those be
communities. 7

onging to those

(b)  Such issues need to be handled Wlth sensitivity.

(€) Some students might feel shame ﬁitglking about their experiences of discrimination.
(d)  Students should be forced to sharé .tl':l}ﬂi!‘ experiences.

Choose the most appropriate option :

(1) (@), (b)and (d) (2) (a)and (b) (3) (a) and (c) (4) (a), (b) and ()
U Hva € i et wen F erfvar guee o o 2, safan s e e ) FE H a9d wE
@ o9 wega w5 gu sew frefataa 3 3 5 a6 & wm @ =t ?

(2) TN HHEME] F A € W3 FHEE 9 S T AEES WegH F A ¢ |

() ¥ W ¥ i & e )

() T TH I WY g S A W w v e ww ¥

(d) Taenfd=i | sa@ a9 aﬁﬁammmﬁm

T SugE fames 9 - ——

- _

M @OW@ @ uTme @) @I @) (), b

82. Which of the following statements is irrelevant representation of diagnostic evaluation ?

(1) They are usually followed by remedial classes.
2 Thev ¢ d | 1 ]
(2) ey are used for comparing the }cgrrfung achievements of all the stude

(3) They are conducted during the in\;ﬂn;m{] nal process, nts in class.
(4)  They help to identify learning diféimlties.

8 9 5 4 i s fr

()~ TR mmwma;maﬁmm%l

E

(2) mwwmwmﬁwmm S

(3) mﬁmmwm%mmm%l ST |
@ mmﬁmmwﬁw‘ﬁmm%l

P-11 (R0 EIH Q@ o

T et -
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Al which stage of schog] educat;
: i
- innodl’fed to students in tﬂxtbook:l; as per NCF 2003, are social science topics independently

Choose the correct Option of followi
ving,

Higher Secondary g

] Y Stag
o | be (2)  Primary Stage
3) Upper Primary Stape
(4) Secondary Stage

.0, 2005 F TR, T forn 2 L
‘:ﬁﬁwﬁwmmi%“;ﬁm*ﬁqmmmﬁmﬁﬁwmmmnmn

(1) Eﬁmmﬁmm "
(2) WgHEE ¥

3) I MAHE =R (4 R

g, In lndlﬁﬂfemlﬂrlsm, the state maintains a “Principled distance” with respect to religion. This
means :

(a) State could interfere in religious matters on the basis of ideals laid out in the Constitution.
(h) State and religion can interfere in each other’s matters.

(c) State and religion cannot transgress each other’s boundaries.

(d) State can regulate religious affairs when need arises.

Choose the correct option :

) @and (@) () @and®) () Mand(@d) (@) (@ and ()
s e A, T, 3 wed © uw  Agifas gl wH T ¥ ) 74 T

(a) wfaym § fau o el & U W T yifeda wwel § wraad &7 9§

(b) WA #ﬂuﬁt{a:qai&imnﬁﬁﬁméwaﬁm%u

(©) maﬁtuﬂ@@ia&hﬁmsﬁmﬁm?ﬁﬁmﬁl

(d) W@mmmmﬁmﬁmt‘ ;
W faweq o1 w9 @I

1) () 3R (d) @ @I O GG @@ A1 (d)

MU B N F

h-__l-—
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of social science ?

85. What is the advanta ge of field work as @ method
(1) Helps in testing knowledge of the students
(2)  Provides students first hand knowledge
(3) Develops skills of presenting, proposing wnd a7geg
(4)  Helps to memorize facts
s foqm 2 g 35 v o e (s ) 5 A ED
(1) fornfefeli & 1 witaor 3 weg e €
(2) o w1 weE W e
Q) R e, e e s e & e fowE
(4) T A IR @A § v w@ T
86. The distinctiveness of Adivasi societies is attributed to :
(a)  prevalence of caste system
(b)  practice of a range of tribal religions distinct from other prevalent religions
(c) distinct language use
(d) presence of little hierarchy
Choose the correct option :
(1) (@) (b), (c) and (d) (2 (@), (b) and (c)
(3) (b), () and (d) (4) (@), (b) and (q)
JfearHT JA F:1 faferea 1 o s g
(a) nfd =3 & woem 9
(b) qﬂ’(ﬁfﬁ”‘ﬂﬁfﬁmm%wﬂrﬁ%mmaﬁ
() Tafre s & wam =
(d) SE- w6 FH Iy 9
T I F I Hifag |
) @ ®) (€ 3 (d) @ @) 0 (o
(3)~ (b), () ¥ (d)

p-11 (AN
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MU

_

(3) (@and() (4 (a)and (0

M OFEQ Q) FE@ @ @iwe) W @IRE

Which t;f the following classroom activities will help students critically look at the role of media in
society ¢

(a) . Asking students to have a classroom discussion on the topic ‘can the govt. prevent certain
news from being aired on T.V ? Why might it do so ?

(b) Asking students to bring clippings from different newspapers on the same issue and make
comparisons regarding how they have reported it.

() Asking students to collect news items they have received in whatsapp groups or through
social media platforms and using them as pedagogic resources.

Choose the correct option :

() (a), (b)and (c) (2) (a)and (b) (3) (a) and (c) (4) (b) and ()

frefafaa § A FH-o1 Fen nfafaty faenfddi |5 g 9 difem F@ yfaa 1 e gfe 3 <@ b

TR FHd ?

(a) ‘o TR faell e i e W TAH | UF e €2 9 T i woh 2 fawd woon g wmn
Y gftera] Har |

(b) wwg‘gq{mﬁfﬁﬁaﬁﬂ—ﬂaﬂﬂﬁaﬁ?%ﬁﬂstdlmaﬁTm?ﬁﬁﬂTwiﬁwa;ﬁ

I FHE |

(c) gﬁ@w@ﬁamﬁmﬂmﬂﬂ@@ﬁﬁwmmmﬁmmm%m
Y 3&ared |

W faeeg &1 =aA SiaC | | |

W), ) 3iR©@ @ @ A () (3) (a) 3R (c) (4)  (b) 3R (o)

59 P

T et -
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89 bout inquiry approach :
. ¥ : _ o ‘.1“ h
Which of the hﬂhm*itl}: statements are trus 4
e evidence.
(€)  Teacher decides the pace of learning.
(d)  Ttisa quick way of learning,
Choose the most appropriate option

. a), (c) and (d)
(1) (@) and (v () (a) and () () (). (©) and () (1) (@) ()

SIS TUTRT R e ————— kL U AR

(1) TE Wl A ez 7 sl w2 WA w1 d

(V) W e wwaa w yeia wwd & Aw e A T e 7

() ol sifiem ad ofa 3 @ a0 £

(d)  T€ U St |} s & ais ¢

was Sfam fawen = s #ifo

(1) (a) 37 @) (2) (@) 3 (©) 3 (). F W) @ (@), () F (d)

90. Following are some questions/comments that you have received from your students in a class.
Which question reflects the student’s ability to critically look at the issue of poverty and
inequality ?

(1)  Why does government give free goods to the poor ? Won't it make them
lazy ?

(2)  Why is it that luxury cars and beggars can both be seen at traffic signals ?
(3) Why can’t poor people work harder to improve their lives ?

(4) When will India become developed and get rid of poverty ?

-

ﬁqﬁﬁaam/ﬁmfmﬁ-mmﬁmmﬁ:ﬁaﬁﬁfﬁmﬁﬁl ¥ | -1 wea faeneif % e
9 HEEEA F gL W quvmmhﬁam%?

@r ira i & & faem mﬁﬁnﬁmnﬁémfm‘im?ﬁwfmaw%amﬁ?
(3)
(4)

prt (R 60 P

N7 FA fawtaa @m 3 TWE | g g
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LAN PART - Iv
H,GRTANT : Candidates shoulg GU-A..GE -1 : ENGLISH
y u - — —~ — -
* for ENGLIsK as [_E;:tp:m[‘!.ql:lesﬁnm from Part-TV (Q. No. 91-120), if they have opted
T FANGUAGE. :
. L J\G}F I only. |
,d the given Passage ang 5, N —— (e |
¥ we were walking acrq " the qliestions that follow. (91-99) i
|

SS 1
I Ghe p“"ﬂd me to one sidETsdgardEn "'t'he'? my daughter spotted a cluster of familiar red flowers.
pulled me down to her heightthen' looking excitedly at me as though she had a secret to share, she
had finished her sentence W-and Whispered in my ears. I shot up straight almost as soon as she
good idea to do so whep | l

wa ﬂ‘trm}' mouth ajar, | was about to tell her that it was probably not a
S trans ity e s
it had been a rather long day ported to the time when I was around her age

that was lined with many ixo from school and [ was dead tired. | was walking along the pathway
anything, he gleefully Pluckpc:['a P!HTIL‘E when my friend grabbed me by the arm. Before I could do
]v.;'as not about to be swaved ;’ single flower from the cluster and showed it to me. Unimpressed,
the flower upside down t; “4 by a puny flower and was about to admonish him when he turned
0 show me a_tiny almost invisible thread-like thing that protruded out

L A\

l:.l

from its stalk.

iy,

3, He pulled the faint yellowish

hf[‘ﬂd d i . it, a tiny ar ¢ N
cast, that was what | think iy and right at the end of it, a tiny drop of nectar appeared. At

lants. We really had was, as it-was really quite sweet. That day we raided the ixora
nlants. Ay had a lot of fun. 1 could still taste the sweetness till today. My daughter’s urgent

tug Pr””!f}h[ f’"_'f' back to reality. I turned to my daughter and decided that she too needed to know
the joy of tasting sweet nectar from beautiful blooms.

91. ‘to be transported in time’ means

—

(1) to lake future decisions | '(p_') travel backwards

(3) toindulge in time travel (4) recollect memories of the past

92. Identify the parts of speech of the underlined words.

| was lrans;pnrlvd to the time when | was around her age.

(1) noun, adverb 2)  noun, verb
(3) adjective, preposition (4) noun, preposition
3. 'l was about to admonish him ....".

The underlined word can be replaced by the word -
(1) cajole (2) appreciate v (3) reprimand (4) refuse

. 2 assume that the 2 characters + relati : .
From the given anecdote, one can assume characters shared the ulatmmhnp of :

(1) grandmother and gmmi-child (2) Dbest friends

(3) mother and daughter (4)  school-mates

9,

MU o P

T -

T et e -
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95,
Rl"ﬂd tl]'[l ﬁ;‘l lt“\'in}" Hl‘nli‘l‘l{‘l_"i . “ 1
Ty . Lol % . Ja 1 il
Ei‘) 'he writer is tray matised by the memories ol her L*hlh ;":i:‘ school days.
3 ' ; [ y » . N s 0 C
3 N .. a
E'T; (b) and () are correct, (a) is incorrect
; (a) and (©) are correct, (b) is incorrect *
. R ; g "
L] (b) and (€) are incorrect, (a) is correct ~
) (@) and (b) are correct, (c) is incorrect(_)_)
96‘ , H_"‘. . . .
IT Para 1, according to the mother it was not a pood idea to:
l_‘] walk along the pathway alone *
(:!.-) aste sweet nectar from flowers | N/
(3)  raid the ixora plants
(4)  walk in the parden the whole day long,

97.  Read the tollowing sentences ;
Assertion (A) ;
The child was excited to share a secret with her mother.
Reason (R) :
The mother was in disbelief and went down memory lane.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2)  (A) is correct, but (R) is incorrect .
(3)  Both (A) and (R) are correct L
(4)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
' I !
98. Complete the word analogy : - |
cluster : bunch : : puny : 2 "

(1) long-stalked (2) delicate ~(3) colourful (4) prickly
99. ‘To be dead tired” does not mean -

(1) to feel refreshed (2) to feel too tired to walk

(3) to be exhausted (4) to be completely exhausted

Read the given extract and answer the questions that follow. (100-105)
My tea is nearly ready and the sun has left the sky;

Its time to take the window to see Leerie going by;

For every night at tea time and before you take your seat,

With lantern and with ladder he comes posting up the street.

Now Tom would be a driver and Maria may go to the Sea;
And my papa’s a banker and as rich as he can be; ™
But I when I’m stronger and choose what I'm to do,

O Leerie, I'll go around at night and light the lamps with you

For we are very lucky, with a lamp before the door;. ]

d Leerie stops O light it as h? lights so many mor¢;
i:d O ! Before you hurry by with ladder and with light,
O Leerie, sce @ little child and nod to him tonight 1™

[dentify the rhyme scheme in lines 5 - 8.
é 2) abba 3
(]) aaba ( ) ( ) aabb (4} .

prt (PO 62

100.

es of nature.

T et -
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[he phrase, ‘the sun K6 left the

P (1) it is evening time " Sky” indicates that -
(2) itis morning ~ (3) itis forenoon  (4) it is afternoon

102. why does the poet congjg, himself 1o be fortunate ?

» fortunate

(1) He is strong angd doesn’t hay

" v v tu n - K Shgys -,f ,
(2) He has a rich banke \ake a choice in life

' r father,
(Y He doesn’t have 1o light other

(4) He has light at Night by peoples” doors.

hiﬁ d[‘)ﬂr_

3. Read the following sentences -

() The poet occasionally has 5 light outside his door.
() The poet wants to be 3 banke
(c) The poetis fascinated by the
ll) (u} and ﬂ‘f) are correct, (L) 1S inc*ﬂrrvct
(2) (a) and (c) are correct, (b) is incorrect
(3) (b) and (c) are correct, (a) is incorrect

(4) (a) and (b) are incorrect, (¢) is correct

r like his father when he grows up.

lamp lighter’s profession.

104. The poet looks at the lﬂmp-lightcr'ﬁ profession with -

(1) confusion (2)  wonder (3) jealousy (4) curiosity

105. With reference to the poem, complete the word analogy :
Leerie : lamplighter : @ father : 2
(1)  Dbanker (2) rich businessman
(3)  driver (4) sailor

106, A teacher at the secondary stage gives a text/short story and asks them to read and discuss the
meaning and ideas of the text from the point of view of power and justice. What does the teacher
attempt to develop in the learners ?

(1) l-iighcr order language skills (2) Cntical lillfl'-]l.‘}' skills
()  Critical pedagogy (4)  Critical language development

107, What is ‘interlingual identification” ?

(1)  Leamner's understanding that learning of different languages warrants different abilities.

(2) Learne
language are similar.
ment that something in the native language and something in the target

- . ' ¥ ' ] ™ . " - . - . .
r's judgment that something in the native language and something in the target

(3)  Learner's judg |
language are dissimilar.

1)  Learmner's judgment that the knowledge of the native language interferes in the le aming of
' . »

second language.
X 63
R UTFTRRIIY d

h _ 3
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roup 1o tell the story in the

5 % L
) “’ﬂl'l\ mng : -
I« classroom. What is this

108, " the

s
f\ Iﬂ", 1 . o d “qk.‘ I._t.ll'nt .
Buage teacher tolls o story in English an nmoen languag’

Il“ v . | o
lu:lt‘\““u"h Known to them and then in the ol
AT

{ h“ﬂlkﬂl Hh‘.‘lhtﬂ}- k“““'“ “ﬁ?

(1) I*‘“‘t‘:llﬂnu Tra nslanguaging

D ) .
ﬂl‘l‘llll.‘iihﬂﬂ (-] & Il‘ﬂfhl“ﬂ

i tlanguayg,
() Mulhhn}‘,lml policy (4) Aultilanguad

are given a story of tep
nd the other in the pair WrItes thyy

and the first in the Pﬂit;; ‘?’ﬁtesf the
Later they compare teir Writing

. 11176
9 e in which the patr
10¢ A teacher ol Cl ork activity 11 wh

H'l‘“h'“l.‘l.‘ﬂ,
sentence,

ass VI conducts a pair work ntences
One in the pair reads oul the [irst &

on o sentence
! Fhen other in the pair read oul second hole story.
With the original teat given to them, What is this activil)

(1) Mutual Dictation (2) Mutual Writing,
() Mutual Listening (4) Sentence Dictation

. . ¢pecific information. Thjs
110. A learner reads through the news item in the newspaper 1O know sp

B . . -2 'n
(1) Study skill (2)  Critical reading (3) Skimming (4) Scanning

111. Procedural knowledge in the teaching-learning grammar 1S
(1) knowing the language and its culture.
(2)  Kknowing how to do the grammatical item.
(3)  knowledge about the grammatical item.

(4)  knowing the rules of the grammatical item.

112. Shreya is a Class VI learner who moves from the Jalander in Punjab to Madurai in Tamil Nadu as
her father has been transferred. - She knows Punjabi as her mother tongue and English language
she studies as her second language in school. She is able to speak and read Tamil learning from her
neighbourhood. Which one of the following statements is true based on the languages she now

knows ?

(1)  Her English comes under language acquisition and Punjabi and Tamil come under language
learning.

(2)  Her Punjabi and Tamil come under language acquisition and English comes under language
learning,.

(3) Her Tamil comes under language acquisition and English and Punjabi
learning, b njabi come under language

4) Al the three languages, Punjabi, Tamil and English under language learning

113. Malayalam spoken by a particular community in Kozhikoc
spoken by others in the same place. What is the Ma]

known as ?
(1)  They are two different languages
(3) Regional dialect of Malayalam

liis slightly different from the Malayalam
ayalam spoken by the particular community

(2)  Two varieties of Malayalam
(4)  Social dialect of Malayalam

pxt (ENBHLAI AN 4 , r

e . - - _— E

] et -
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v

“mi";,fr:} y tthe ollowing ;o try

other ton e

(0 Mother tnngzﬂﬁmme la"g“ﬂ;f;}; e language formla 7
2) ©/homge ®/English as the first language.

ik

lish/Hind; Ngua :
(3) Engﬂ: /t Hindi/ homg lnn:;la 8¢/ regional language as the first language.
(4) Mother tongue, home lang,, &¢/local language as the first language.
Guage/ Hindi as the first language.

ring learnin :
, Followng PETRING task o o
115 ]Eaj'ﬂlng ﬂfh\'lt}’ k“DWn i $lve

n o . i
as. to learners In different groups. Find out what is this vocabulary
find words and phrages

Which re
A relate g the following words.

(2)

[1) Word Web
(3) Word clusters

Thematic Vocabulary
(4)  Cluster Vocabulary

6. A method of teaching in whi
11 ith different roles, gDialn hich a teacher and four students form a collaborative learning group
proximal development in | F;;i; Occur on the content of the text passage, which creates a zone of
reading comprehension improves. This method is referred to as :

Model Read;i
(1 ng (2) Grammar Translation Method

(3) Reciprocal Teaching (4)  Structural Approach

117. The language we use for day-to-day, face-to-face interaction is known as :
(1) Interpersonal language proficiency
(2) Cognitive Academic Language Proficiency (CALP)
(3) Basic Interpersonal Communication Skills (BICS)
(4) Communicative language skills

118. Remedial teaching is for :
(1) learners and teachers to enhance the scores in the examination in language paper,

(2) learners who need attention on certain aspects of language learning,
(3) teachers who need to modify their teaching’for certain student to learn the language.
(4) learners and teachers to understand and modify/improve their teaching/learning strategics.

119. Which of the following is NOT true of Sign Language ?

(1] Sign languntgu has a grammar.

2) Sign language has many varieties.

3) Sign language is a natural language.

(4) Sign language does not have a grammar.

12, Which of the following is NOT the purpose of extensive reading ?
(1) Reading for pleasure (2) Reading for appreciation
(3) Reading for extrapolation (4) Reading for learning grammar
Py 65 p
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L
X "Es' PART -V
f:’?‘ LANGUAGE - Il : iEl'lﬁl..l.“':"l'l -
I - —e—— Y -150), if they
IMPORTANT ; Candidates should attempt questions from Part-V (Q. No. 121 150)

have opted for ENGLISH as LANGUAGE-II only.

————————————

. ———— —
e ——————
S [

Read the given passage and answer the questions that follow, (121-128) . nality is, by
L. The loss in carnings that farmers see due to extreme weather events or erratic SEﬂSE'EI'E s ;’irst
now, accepted as the most widely felt economic impact of climate change. Farmer try’s overall
people to feel the impacts of climate change, which ultimately affects the coun l{in i
agricultural output and adds to food inflation. High food prices, in turn, could resu P
slashing down consumption, which adversely impacts nutritional security. ‘

A significant number of farming households produce food for their own cnnsumpnci':l;_ These
households have given birth to an old saying, : those who eat their own food are the healthiest. In
countries like India, where malnutrition is high and food insecurity is a nagging cnmt%nt’ SU.Ch
houscholds have used the home production system to remain out of this crisis. As studies point
out, thtse houscholds are also protected from market fluctuations, thus ensuring that they can
afford healthy food. Obviously, they are not impacted by food inflation either.

But there are serious conversations taking place over how climate change-induced extreme weather
events would impact such households. We need to understand the link between nutrition intake
and household food production, and whether weather fluctuations would have any impact on
this. Researchers have analysed village level data from households with their own food production
and consumption, and co-related this with the local weather conditions to infer whether there
was a correlation. The paper establishes that people growing their own food consume more, thus
adding to nutrition levels and attaining overall food security. There was also reduction in child
stunting and underweight conditions as well as women achieving a normal body mass index.
These trends are more pronounced in remote villages.

IJ

‘4

121. Some households have remained out of the crisis.of food insecurity by adopting -
«¥] home production systems Y o
(2) high food prices
(3) climate change conditions
(4) protection from extreme weather conditions

122. Identify the parts of speech of the underlined words.

A significant number of farming households produce food for their own consumption

(1) noun, pronoun (2) adjective, pronoun
(3) adverb, pronoun 44)  noun, adjective

123. As mentioned in para 1, what is the series of events that
(a) increase in prices of food items _
(b) detrimental effect on n'u_tritinnal security
(c) extreme weather ::umhhﬁuns
(d) reduced fnm(i {u;unstu;"tplmn _
(c) = (b) = (d) — (a %) @) > (d) - () -
B 000 B 0@

are triggered by climate change ?

JE L

p-rr LA 70 -

| Tp— | .
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126.

127.

128.

Read the given extract and a

rul

sad the following SeNtence .

. (ﬂ) A Sign.iﬁcant nUmb(.r

: of Indi
p) Household food Pfuducti;:‘: o houscholds afford healthy food.
Food Insecurity chaqig::]' l{::::;‘d n::npac? ml-l {jmx] inflation.
(1) (b) and (c) are inc Orrect, ( a) is non in India.
2) (@ (b) and (c) are 4 incorre: correct
Gy (a) and (c) are incorrect o) ect

(4) (@) and (b) are incorrect, (©) is correct
ec

. which word can the :
. B underlined word be replaced in the given sentence ?

‘These trends are more pronounced -
= In remote areas.’

1) ignored :
(1) 8 {2) disregarded  48) important (4) noticeable

Complete the given word analogy
local : global : : erratic: 7 .

(1) dependable (2)  believable 43T consistent (4) disputable

What is correct about the health status of farmers who take to household food production ?
(1) women with higher body mass index

(2) children are malnourished

(3) Dbetter nutritional intake

(4) stunted growth of children

Which statement is incorrect with regard to household food prmlurlim‘l ?
(1) Increase in number of malnourished children

42y Nutritional intake was better

(3) Food consumption in such houscholds was higher
(4)  Women enjoyed normal body mass index

nswer the questions that follow. (129-135)
Untouchable, a charming, French comedy about two friends who have ulmf wt nothing in commaon,
But before the story became a cinematic sensation, how

has been a huge international success. ! ind
grant with a criminal past become pood

exactly did a rich French aristocral and an _A_lgvnan immil it +
fl'l'l‘l‘lt.l"i ? Fhilip nd -\.hdul h t in Pars in 1993 when r"hlhp was ||u:1'.my; for a nurse. He was
= " [ -

from a verv wealthy family. time he had been a successful business man, living a hfe of
. . A ' ;
: ding accident and lost the use of his arms and legs,

Philip was struggling to imagine the future, and he

rst me
At one
preat luxury. Then he had a terrible par agli
Life in a wheelchair was lonely and h‘m?}‘f.
h his day-to-day life
~ . for the job of a nurse. But none of them seemed right.
Philics interviewed more than 80 people for . _ . .
'[?lhnhpr leryigiwel B [n1 had quit a life of crime in Algeria and moved to France to look for work.
' en he met Abdul, W 1; l‘ﬂ i quick-minking, with a crazy sense of humour. Philip got on with
L] i T, > 8 e [ " ; ¥ .
¢ was lively, intellige? offered him the job. The two men didn’t have much in common.
cal music. Philip loved modern art, but Abdul

Abdul immediately, and he 07 referred classi
Abdul loved pop music, bu Philip P 4 made a bad choice. They believed that Phili ded
sumthathem made a bad choice. They believed that Fhulip neede

ls:ted it. Philip’s fami’y w;l 5.3 \feanwhile, Abdul wasn’t planning on staying in the job for long.
meone much more $eNs '

needed practical help wit

71 P

P
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kly developed into @ close fr :  beought fm

3. However, their worki jonship qui
" working relationship qui¢ . onorgy and sense of humo
the support he needed. More impurtanﬂ}"gsP;Hf;gﬁake trips to other coun

excitement back into Philip’s life. Abdul help A  keep in touch regu
now live in different cnunE‘ics. cach with a wife and family. They keep and adventure.

really matters to their friendship, though it 18 their shared love of laughter

129. Complete the given word analogy :
Luxury : opulence : ; sensation: 7
(1)  suspicion (2) disaster

(3) callousness 1) feeling

130. What bound the two very different men together for years ?
(1)  their immigration status (2) their love for adventure sports

« 8}~ warm friendship (4) love for music

131. Why did Philip need a nurse ?
(1) To resolve Abdul’s immigration status.
(2) To wipe out Abdul’s criminal past.
(3) To help him with day-to-day practical things of life.
(4)  To listen to classical music together.

132. Identify the parts of speech of the underlined words.

However, their working relationship quickly developed into a close friendship.

(1) noun, adverb (2) adjective, adverb
(3) verb, adverb (4) adjective, verb

133. Read the sentences given below :
(a) ‘Untouchable’ is a French comedy movie.
(b) The theme revolves around 2 friends, Philip and Abdul, who have similar tastes.

(c) The movie was a huge success in France and Algeria.

(¥~ (a) and (b) are correct, (c) is incorrect
(2) (a), (b) and (c) are all incorrect

(3) (a) and (c) are correct, (b) is incorrect
@) (b) and (c) are incorrect, (a) is correct

134. Which aspect of Abdul’s personality is not true ?
(1) He preferred listening to classical music.
(2 He had a crliminal past record.
(3) He was quick-witted and supportive,
(4) He shared a close rapport with his employer.

135. Abdul migrated to France to -

(1) search for employment
(& work in the movie industry

'(3) run away from the Algerian police
(4) listen to pop music

p1r (RGN 72

] et e -

iendship- Abdul gave Phj)

tries. Both of [hum
larly. All thy,
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..h of the followin
‘ufhl‘:h 0 . g prﬂcﬂ’ﬁ_ .
w Braining Slﬂl'tning - j“ﬂi’:ﬁ involved for learning to write well in a language ?

finalising,. down points - making an outline - writing the draft - editing -
Q) Braining stnrming ~ma

136

King an outline - drafting - jotting down points - editing - finalizing,

(3) g l‘ing dow . .. : : -
finalising. VN points - writing the draft - making an outline - editing -

k| Bfﬂining storminge — ;. .

(*) finalizing. & = Jotting down points — writing the draft - editing - making an outline -

: .0 .

s add at least mf mor Ellr schooling in their mother tongue/home language and move on to
-+ All children begi he' anguages by the time they complete their high school.

(2) dd at least twgm their schooling in the medium of English/home language and move on to
;ll children ben Joare _languﬂges by the time they complete their high school.

(3) gin their schooling in their state language and move on to add at least two

more languages by the time they complete their high school.
(4) Allchildren begin their schooling in the official language, Hindi and move on to add at least

two more languages by the time they complete their high school.

138. Declarative knowledge is
(1) knowing how to do the grammatical item.
(2)-. kpuwing o pronounce word in a language.
(3) knowledge about the grammatical item.
(4) knowing how to identify an error in a grammatical item.

139. Learners in a class of Social Science try to capture the main ideas of the classroom lecture and
make point of the lecture. What is this skill known as ?
(1) Cognitive skill ~ (2) Study skill (3) Listening skill ~ (4)  Writing skill

140. Learning Outcomes attempt to enable learner to :
(1) attain language components in measurable terms.

(2) attain the grﬂnunaﬁca] knowledge in measurable terms.
(3) attain the competencies in measurable terms.

J:U’ attain minimum levels of learning of all skills.

141. A teacher in class VIII read out a text of five sentences in English twice and asked her learners to

listen to the text carefully. Then she asked them to work in group of four to recreate text nearer to
the one read out, not exactly the same. What is this activity known as ?

’ ' 2) Writing task

() Listening task ( e
(3) Paragraph Dictation {(4)- Collective Dictation
to speak four languages, Kannada, Marathi, Hindi and English.
when he speaks to his parents at home and in school he uses
re the language known to his friends and teachers. What is

ss VI 1s able
es freely
as these a

142, Elam 1s a student of cla
He uses all the four langll:‘ig
Hindi, Kannada and Enghﬁh

this practice known as ? (2) Translingual ability
U} Interlanguage (4) Code-moving
(3) Code-meshing
73 P
P.j
QLm0
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rmal properties
™ -I , | f thE fﬂ
143. Which of the following methods advocates oral drilling and mastery O

language’ as essential for language learning ?

(1) Total Physical Response

(2)  Audiolingualism

(3) —~Communicative language teaching

) Grammar translation method

to her classroom ¢,

. Xes and an .
utensils, bo P are these objects

144. A teacher of class V] brought items like spoon, plate, kitchen. What

teach Vocabulary from there writing a description of objects In
known as in Iangungu teaching ? _ '

—(1  Real life tasks (2) Tunchmg_ materials
(3)  Realia (4) Cooking items

: - tion ?
145. Which of the following is NOT true of National Education Policy 2020 on language education

(1) Study of English as language under three language formula.

 (2) Study of a classical language under three language formula.

WY Study of mother tongue/home language under three language formula.
(4)  Study of Indian languages under three language formula.

146. Hereis a question. Read and find out which typology of question it belongs to.
Having read the story of the little girl, you feel moved by her suffering and cnuragfe to face the
trouble. You would write a letter to the little girl appreciating her. Write the letter in about 120

words.
(1) Discursive question (2) Expressive questions
3) Long answer question (4) Extrapolative question

147. Here is a situation where students were exposed to the opposite perspective of the subject under
consideration to allow them to further understand it. What does this process attempt to promote
among learners ?

(1) Literacy development “(2)" Critical analysis
(3)  Process based pedagogy (4) Critical Lite?acy

148. What is ‘Translanguaging’ ?
(1)} It is language-in-education policy on how many languages are to be taught in a school

(2) Itrefers to moving from one language to another language while teaching-

(3) It refers to understanding how languages change over the period of tim
(4) Itis a pedagogical process of using more th

learning languages.
e.

an one language as resources in a classroom.

149. Which one of the following statements s true of Ianguage leaming ?

(1)~ First language learning and second language are completely distinct

(2) Knowledge of the native/first language interferes in the learnin ncf :

(3) Knowledge of the native/ first language has nothing to do in the 151 >econd language.

(4) Knowledge of the native/first language supports in the learning ‘ﬂ?::ci ﬁi{ S;ECﬂnd language.
anguage.

150. This refers to the proficiency in academic language or lanpuae .
1) Cognitive Academic Language PrnficiEncvg(C ALP) guage needed for Various content areas.
*(2) Inter-language proficiency )
(3) Basic Interpersonal Communication Skjjjs (BICS)
(4) Communicative language prnl’icienc},
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